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Question Id : 3421236625 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the revenue (in ¥ lakh) obtained by a publishing house while selling
three types of publications, namely, books, magazines and journals during the four years from
2020 to 2023. Based on the data in the table, answer the questions that follow:

Year - wise Details of Revenue

_ | Revenue (in ¥ lakh) obtamned by selling of
= Journals Magazines Books
2020 45 33 10
2021 47 40 80
2022 40 42 §7
2023 40 i 79

Sub questions
Question Number : 1 Question Id : 3421236626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which year shows the highest change in revenue obtained from journals over the previous year?
1. 2020
2.2021
3.2022
4.2023
Options:
1.9 1
2. % 2

3. %3
4. % 4



Question Number : 2 Question Id : 3421236627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2023, approximately what percent of the total revenue came from books?

1. 46%

]
L
th
=
=]

3.35%

4. 25%
Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 3 Question Id : 3421236628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There was an increase in revenue from atleast two types of publications in comparison to
previous vear for exactly year(s)

55

3.3
4.0
Options:
1.9 1
2. %2

3. %3
4. % 4

Question Number : 4 Question Id : 3421236629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the year 2024 were to show the same percent revenue growth over the vear 2023 as the year
& o .
2023 over the year 2022, then the revenue in the year 2024 will be approximately

1.2 194. 063 Lakh
2.7 187.075 Lakh
3.2172. 083 Lakh

4.2 177.095 Lakh
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 5 Question Id : 3421236630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
The growth in total revenue in 2023 in comparison to the year 2020 is approximately

1.21%

]

. 28%
3. 15%

4. 11%
Options:
1.9 1
2. %2
3.%3
4, % 4

Question Id : 3421236625 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension
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2020 43 335 70

201 47 40 g0

2022 40 42 87

2023 40 54 79

Sub questions

Question Number : 1 Question Id : 3421236626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aﬁﬂagﬁmaﬂfﬁﬂaaﬁfaﬁwﬁﬂﬁﬁﬁﬁ@ T XToRd H Faddd URdcH faars

1.2020

2.2021
3.2022

4.2023
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 2 Question Id : 3421236627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 46%
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3.35%
4. 25%
Options :
1.9 1
2. % 2

3. % 3
4. % 4

Question Number : 3 Question Id : 3421236628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3.3

4.0
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 4 Question Id : 3421236629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i ay 2024 T, 39 2023 U 9] Word 9 T8 & ol a4 2022 G 2023 H ol Al ¥ 2024
ST AT T I 2

1.0 194. 063 ¢l
2.% 187.075 9
3.% 172,083 <9

4.% 177.095 ¢lId
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 5 Question Id : 3421236630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dY 2020 1 JeH1 H a4 2023 H ol IAoied H gig T fha-i g 2

1..21%

[

. 28%

4. 11%

Options :

1.1

2. % 2

3.%3

4, % 4

Sub-Section Number : 2
Sub-Section Id : 342123265
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421236631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The contents of Swayamprabha Channel - 25 with the theme of “Humanities and social sciences”
are provided by :-

1. IIT Kanpur
2. 11T Madras
3. 10T Tirupati

4. 11T Bombay

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 6 Question Id : 3421236631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WU T - 25 41 - ! 3R o fariT 1 favaasg fwiferd 1 @ fods grT
I BT Il & -

1. g 3Ty TR
2. 313 35 ¢t g
3. 318 315 < foreufd

4, 318 S ¢ 9y

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 7 Question Id : 3421236632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the period of subject English, in a class, Ram is able to recall the author of the book ‘The
diary of a young girl’. This type of memory is called

1. Procedural
2. Semantic
3. Episodic

4. Constructive
Options :
1.1
2. % 2
3.% 3
4, % 4

Question Number : 7 Question Id : 3421236632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yol fey 1 U et T 10 G ST i1 T e Sieh el Tl o i T A1
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| Ui aTeAd
2. el
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4 I HD
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 8 Question Id : 3421236633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A language teacher wants to create visually appealing presentations / lessons with embedded

videos and interactive slides to enhance online lessons. Which of the following tools are most
suitable for this purpose?

A. Canva

B. Quizlet

C. Book Creator

D. Flipgrid

E. Adobe Illustrator

Choose the correct answer from the options given below:
1. B, Cand D Only
2. A, Cand E Only
3.B,Dand E Only

4. Aand C Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 8 Question Id : 3421236633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, Gl
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C. 99 R
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E. [l 30
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2. HAqA, C ARE
3. % B, D AR E
4. HITAHRC

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 9 Question Id : 3421236634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is a key principle in designing authentic assessment?

1. Standardizing assessment tasks to ensure fairness

-2

. Focusing on assessing only basic knowledge

LS

. Integrating real - world contexts and tasks into assessments
4. Using only traditional assessment methods like tests and quizzes

Options :
1.¥1
2. % 2



3. % 3
4. % 4

Question Number : 9 Question Id : 3421236634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YIS Hedlidh &1 3Hided qOR B3 &1 U9 gl Fafaied § 4 #@g
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 10 Question Id : 3421236635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the three meta-cognitive skills used to regulate thinking and learning?
A. Planning
B. Presenting
C. Monitoring
D. Evaluating
E. Sequencing
Choose the correct answer from the options given below:
I.A, Cand E Only
2.A.Cand D Only
3.B, C and E Only
4.B,Dand E Only

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 10 Question Id : 3421236635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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B. IR

C. 3fdtefm
D. JedId
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3. BB, C AR E
4. BB, D IRE

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 11 Question Id : 3421236636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The principal orientation to the role of theory in relation to research is deductive in which of the
following research strategies?

. Quantitative
2. Qualitative
3. Inductive

4. Constructive
Options :
1.1
2. % 2
3.% 3
4, % 4

Question Number : 11 Question Id : 3421236636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgferfRa o oot Sy hreiAiral & <nte o ey o il o et b1 W e
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. URATITAD
2. U

3. STHATHAD

4. XdHD
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 12 Question Id : 3421236637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following types of validity is mainly concerned with the issue of causality?

|. Measurement Validity
2. External Validity

3. Internal Validity

4. Ecological Validity

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 12 Question Id : 3421236637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiRad o 9 9odl &1 & - 91 UhR GUId: & - RO Y Jridd § 2

1. TG el

2, ST YT

3. AR e
4. QIRCeIIg e

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 13 Question Id : 3421236638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the APA style of writing journal article references, identify the correct order of the following
information about the research article:

A. Title of the article

B. Last name of the author
C. Page numbers

D. Name of journal

Choose the correct answer from the options given below:
1.LAB,C.D
2.A4,B.D,C
3.B.AD.C
4.B,D,AC

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 13 Question Id : 3421236638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S A e gt & forge @t U T Qe Wiyeia & W H e IHeR &
el $H B TgdH BIVIL:

A, 3Toid &1 e
B. TR 1 3ffc
C. Uy St

D. S BT M

i feuu fadedl § 9 F5T SR 1 9 BT
[.LAB.C.D
2A.B,D.C
3.B.ADC

4.B,D,A C



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 14 Question Id : 3421236639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of medical research, a comparison group that receives what appears to be a
treatment, but which actually has no effect, is called the

L. experimental group
2. control group
3. placebo group

4. Independent group

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 14 Question Id : 3421236639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.9 1
2. % 2



3. % 3
4. % 4

Question Number : 15 Question Id : 3421236640 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The numerator and denominator degrees of freedom are used in the computation of which of the
following test statistics?

.Z
2. Chi-Square
1%
4 F

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 15 Question Id : 3421236640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 16 Question Id : 3421236641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Interpretation of a media text, which is in variance with the original creator's intention is
described as

|. Impersonal decoding
2. Aberrant decoding
3. Above-the-line decoding

4. Unequal decoding
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 16 Question Id : 3421236641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 17 Question Id : 3421236642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Mass Communication as a discipline has drawn ideas from

1. Physics

(i)

. Chemistry

(el

. Philosophy

4. Material Science
Options :
1.1
2. %2
3.% 3
4. % 4

Question Number : 17 Question Id : 3421236642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 18 Question Id : 3421236643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The characteristics of cool media are:

A. High participation

B. Low definition

C. High definition

D. Small amount of information
E. High amount of information

Choose the correct answer from the options given below:

1. A, B, C Only

(]

.B, C, D Only

5]

.C, D, E Only
4. A, B, D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 18 Question Id : 3421236643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 19 Question Id : 3421236644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are associated with heavy use of Internet?

A. Internet addiction
B. Depression

C. Distraction

D. Atomization

E. Media Literacy

Choose the correct answer from the options given below:

1.A,B.C,D Only

b3

.B. C, D, E Only

e

. A, B, E Only
4. A, B, C,E Only

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 19 Question Id : 3421236644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafeiad ® 4 I 9 Sex-c & 3if¥d T ¥ d6fda g 2

A 484

D. BB
E. SHYIR HIEH (HIfSan) o1 3H

= feu U fas !l § ¥ @@ SR &1 99 DifoIT:
|.hdd A, B.C.D

2. HddB.C.D.E
3. H9d A.B.E
4. HIddA.B.C.E

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 20 Question Id : 3421236645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
(Concept) (Description)
A |Audience imperialism | I |Mediated aggression to reduce people's aggressive behaviour
B. |Catharsis II |Selecting news sources based on ideology
C. |Siloing III. | Early media exposure of the world to children
D. |Early Window IV. | Too much preference to audience activity

Choose the correct answer from the options given below:

1. A-L B-IL, C-III, D-IV
2. A-1L, B-II, C-1V, D-I
3. A-IIL B-IV, C-1, D-II

4. A-IV, B-I, C-II, D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 20 Question Id : 3421236645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L B-II, C-II1, D-IV
2. A-IL B-III, C-IV, D-I
3. AL B-1V, C-I, D-II

4. A-IV, B-I, C-II, D-III
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 21 Question Id : 3421236646 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The total value of a collection of coins of denomination Rs.20, Rs.10, Rs.5, Rs.2 and Rs.1 is
Rs.570. If the number of coins of each denomination is same, then the number of 1 Rs Coin 1s?

1.10

2.42

3,13

4. 18

Options :
1.¥1
2. % 2



3. % 3
4. % 4

Question Number : 21 Question Id : 3421236646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

20 T, 10 0, 5 ¥, 2 B 3R 1| 90 e & e ] o Wfg 1 el Hed 570 817G
e e o (| ) e SHM €. ol L ¥ el o] ol e g

1. 10

3.15

4. 18
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 22 Question Id : 3421236647 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs.36 results in a discount of 25% on the marked price of an item, at what
price should the item be sold to offer a discount of 20%?

1.Rs.37.8
2.Rs. 38.0
3.Rs. 384

4.Rs. 394

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 22 Question Id : 3421236647 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

afe foodft 7G & 3fidhd PR W 25% BT e B URVIGET JHP! bl PAd 36 T 8,
20% 1 §2 &1 o {1 3 A Pl fehceft 1wl TR ol A1 g 2

. 37.8%0
2,380 %0
3,384 %00
1,394 %0

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 23 Question Id : 3421236648 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Choose the missing term out of the given alternatives-
AYBZC, DWEXF, GUHVI, JSKTL, ?

1. MQORN

(]

. MQNRO

(%]

. NQMOR

4. QMONR

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 23 Question Id : 3421236648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AYBZC, DWEXF, GUHVI, JSKTL, E;

1. MQORN

(o

. MQNRO
3. NQMOR

4. QMONR
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 24 Question Id : 3421236649 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

In a certain coding language if the word “SOUND’ is coded as “VLXKG’, then the word
"TRAIN" will be coded as

1. VQWPF
2. WQDGQ
3. WODEQ
4.VODGQ

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 24 Question Id : 3421236649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U (% ecia YIH H 3052 “SOUND* Bl “VLXKG' § $icd [hal Sl g, a9 g
“TRAIN" BT §C I

1. VQWPEF
2. WQDGQ
3. WODEQ
4.VODGQ

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 25 Question Id : 3421236650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5 pumps, working 18 hours a day, can empty a tank in 12 days. How many hours a day must 6
pumps operate to empty a tank in 9 days?

1. 19 hours
2. 20 hours
3. 21hours

4. 22 hours

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 25 Question Id : 3421236650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.9 1

2. % 2

3. % 3
4. % 4

| )

Question Number : 26 Question Id : 3421236651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about the proposition - "A ship has mass. Therefore, all
the parts of the ship have mass"."?

L. It commits the fallacy of division
2. It commits the fallacy of equivocation
3. It commits the fallacy of hasty generalisation

4. It 15 a non-fallacious statement

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 26 Question Id : 3421236651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 27 Question Id : 3421236652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding sub-contrary propositions?

A. If one 1s true, the other must be false
B. They cannot both be false

C. If one 1s false, the other must be true
D. They can both be true

Choose the correct answer from the options given below:

1. Aand C Only
2.B, Cand D Only
3.A.Band C Only

4. Aand D Only
Options :
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 27 Question Id : 3421236652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I feu T o eyl § O g1 IR &1 994 HIIU:
1. Had A 3R C

2. HddB.C 3R D

3. HAdd A, B3R C
4. Hdd A AR D

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 28 Question Id : 3421236653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?

A. All non-trees are non-animals
B. No animals are trees

C. Some animals are not trees
D. No trees are animals

Choose the correct answer from the options given below:

1. Aand D Only

[

. A and B Only

(5]

.B and D Only

4. B and C Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 28 Question Id : 3421236653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 U B 4 HyH diihd ©U Y g ¢ 2

A U TR -4 TR - U
B. D3 MUY I8 Tl ¢ |

C. $® U 9& 81 ¢

D. B3 Y1 3¢ U el 51

A fGu e fadetl & 9§ HgT IR D1 9G1 BISIT:
1.hde A 3R D

Hdd A 3R B

3.HadB 3R D

4. HadB 3R C

Options :

(o



1.¥1
2. %2
3.%¥3
4. % 4

Question Number : 29 Question Id : 3421236654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which of the following are arranged in the order of decreasing denotation?

1. Animals, Vertebrates, Birds, Sparrows
2. Sparrows, Birds, Vertebrates, Animals
3. Animals, Birds, Vertebrates, Sparrows
4. Sparrows, Vertebrates, Birds, Animals

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 29 Question Id : 3421236654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{5 o O D1 91 9ed a&da & i § diyd g
1. U%, HRIGD], G&iT, TRAT
2. TTRAT, Ul HRRZPT, U
3. UYL, el HRISH!, TRAT
4. TIRYT, SRS, Gefl, Uy

Options :
1.v1
2. %2
3.%83
4. % 4




Question Number : 30 Question Id : 3421236655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because the middle term is non - exclusive?

1. All things are non-eternal, because they are knowable.
2. The hill has fire because it is knowable.

3. Fire 1s cold because 1t is a substance.

4. Sound is eternal because it is produced.

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 30 Question Id : 3421236655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 UG o 3fAdifdd g b DRI, (4 [GU Y dehi § 4 B 9 e qrogui g2
. gt aRqU A g, Fife ag 9 ¢
2. Jdd ¥ 31 § Fife a5 3 3|
3. 3 331 g b 98 Tard G|
4. @ e ¢ b T S P! il

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 31 Question Id : 3421236656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the contribution of Douglas Engelbart in the evolution of computer?
1. Developed the first mouse
2. Developed the first Operating System (OS)
3. Developed the first Vacuum Tube
4. Developed the World Wide Web (WWW)

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 31 Question Id : 3421236656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HeR & hifd [dHME T Sy UHledd DI AT ANGH G 2

1. UYH 9139 &7 a6y fdhar

2. UUH YT YOIl (311 Y ) &1 [dhi fdhal

3. YUY R Jd &1 [dH fha

4. fay =l 99 (S=Y S oY ) BT fdby b

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 32 Question Id : 3421236657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the context of computer networking, which of the following best describes the transmission of
a message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.

2. Data packets will always follow the same route and arrive at the same time in the same
order.

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order.

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 32 Question Id : 3421236657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.%?%%%% TR B G § AN Y it A 7 it o T R Uga

|

2. $21 e BHI U & HF &1 R0 BT 3R U ] G99 TR 341 b 1 0l |
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|

4. 31 Udve Firg- ot T T SR % Wbl € R ¥ GO U 90U W U gl o
EREUI
Options :
1.1
2. %2
3. %3
4. % 4



Question Number : 33 Question Id : 3421236658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of words A-E that correctly fills the blanks in the following paragraph on
computer networking:?

IPv4 addresses are long, and IPv6 addresses are long. The MAC address on the
otherhand,is  long. A MAC address is oriented - towards , whereas IP address is
oriented - towards

A, 128-bit
B. 32-bit

C. software
D. hardware
E. 48-bit

Choose the correct answer from the options given below:
LB,EADEC
2B, AEDC
3.E.BACD

4 AB.E.D,C
Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 33 Question Id : 3421236658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR edihm Yatl 1 Ffaie 1 Red ©IF @1 O] TR G 4R o fel0 A-E el o Wl
$H Bl TgdH BIT:

PuUd el g AR Pve U0d WM g G AR MACTd W
SIS IMACTUD i 3R o= gl § Sfeidh 1p Ul 3l 3R

% || BRI

A, 128 - bit
B. 32 - bit
C. Uam
D. Bled

E. 48 - bit
rd few o fodedl © 9 @t IR 1 9T Bl
l.LB,E.A,D,C
2B.AEDC
3. EBACD

4 A,B.E,D.C
Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 34 Question Id : 3421236659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With reference to the computers, which of the following statements are correct?

A. CPU follows fetch-decode-execute-store cyele to run instructions.

B. Intel and AMD are two manufactures of CPUs

C. The clock speed of a CPU is usually measured in Megabytes

D. Fans are required to cool down most CPUs so that they do not overheat

E. CPU is the brain of the computers and modern CPUs cannot have multiple processing cores.

Choose the correct answer from the options given below:

I.A B, Cand D Only
2. Aand B Only
3.Cand D Only
4.A,Band D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 34 Question Id : 3421236659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HERUT SR
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C. U Y1t g 1 Tt 71Tt ol ST eS| A7 Sl 6|

D. HiAei21 Gt Uiy I 81 B o fofw Ul @t af1awachal gl § iich Ifa1 S A gl

|

E. G101 4 e 1 Af%T g1l € 3R SYHS YR 1 g GH14D SR 51 81 b g
i fU U fadhetl # O gt TR 61 T P

1. $9d A, B,CIND

). $hdd A AN B
3,990 C YR D
4, BaA A, B IRD

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 35 Question Id : 3421236660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

{Di‘fp ;Dn} LIST 1 (Appropriate
A | A storage medium that stores data on the Internet I |RAM
B. |Internal storage where the current mstructions are stored II. |Cloud Storage
C. | A solid - state storage that is used in digital cameras I1I. |Blu-ray Disc
D. | An optical storage medium that stores high - definition (HD) movies | IV. |Flash Memory

Choose the correct answer from the options given below:
L. A-IL, B-IV, C-I, D-III
2. A-IIL B-IV, C-I, D-II
3.A-IL B-I, C-IV, D-III

4. A-I, B-II, C-IIL D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 35 Question Id : 3421236660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

el il

A JUYEH HERUT 1AW
A | U® SR A1 W 3e3e R ST HSRV Bl 3| I [3RTTH
B. |31 SR STg] G 3 @1 HUSRY {501 W 31 I % Nes

C. |fEolied BRI A TORT g a1l T Al (@IS ®e) HSRU | fe®@

WePTRITY HE Rl A1 ol S Wl (T S T Fall 1 HUGRUI ,
g | IV | () ¥

I fu U fawedt # T gt IR &1 95 DI
1. A-IL, B-IV, C-1, D-III
2. AL B-1V, C-I, D-II
3. A-IL, B-I, C-IV, D-III
4. A-1, B-II, C-III, D-IV

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 36 Question Id : 3421236661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UNFCCC (United Nations Framework Connection on Climate Change) was outcome of which of
the following meetings?

1. Montreal Protocol
2. Stockholm Conference
3. Rio Summit

4. Kyoto Protocol

Options :
1.v1
2. %2



3. % 3
4. % 4

Question Number : 36 Question Id : 3421236661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 0 0 4 ) Wt (S T Sierarg Ot el o ot v Faffed § 8 fog
93P B Uidha 417

| HifeTd TR

). WIHgH GHeH
3. 1 TR e

4. T TR
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 37 Question Id : 3421236662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which one of the following rotors is commonly used for electricity generation?

1. Savonious rotor
2. Darrious rotor
3. Propeller rotor

4. Multiblade rotor
Options :
1.1
2. % 2
3.% 3
4, % 4

Question Number : 37 Question Id : 3421236662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



faqgd Iare & v g Hyifed o 9 féga Sugigidars 2
1. aiAgg AR
2. SRAN AR
3. QUG e (WTUER) e
4, Aedised g AR

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 38 Question Id : 3421236663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which one of the following is an example of positive feedback in the context of climate change?

|. Warmed earth radiates more infrared energy (heat) into space
2. Plants remove carbon dioxide from the air
3. Oceans remove carbon dioxide from the air

4. Snow cover and ice shelf melting reduce reflection of sunlight

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 38 Question Id : 3421236663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frafead T 9 o wiearg URad & e § RIS Wiy &l Ieeu g 2
1. IO e 4 afciived o SR St Sfaved il (SHNT) T fafehRu Bl g |

2. UG, I Y PIATSATEES ol (TGIE 6Yd ¢
3. IEHR 1Y ¥ BIaSHaHIES Bl FWhE did ¢
4, 60 SfTBTEH 3R 90 B A1 [UUeH o Beawey T4 HehrE] &l Wdd GH el ¢

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 39 Question Id : 3421236664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not among “three Rs™ a slogan: for solid waste management

1. Reduce
2. Recover
3. Recycle

4. Reuse
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 39 Question Id : 3421236664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



319 Hagl UseH | Fgifdhd | U S 91 Ud «diH R H ifed 181 8 2
1. R
2. RodR

3. g ad
4. 31-gd

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 40 Question Id : 3421236665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Typhoid is a waterborne disease caused by water contaminated by

1. Virus

b3

. Fungi
3. Bacteria

4. Protozoan
Options :
1.9 1
2. %2
3.% 3
4. % 4

Question Number : 40 Question Id : 3421236665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



CTIBTIS sl I g 3R T8 Fufciied ¥ fbud defid od & pRU SR gl g -
L fam

2. hdd

3. Sl
4, VISt

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 41 Question Id : 3421236666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Mashelkar Committee recommended upgradation of Regional Engineering Colleges into:
. National Institutes of Technology
2. National Technical Institue
3. National Engineering Colleges
4. National Technical Colleges

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 41 Question Id : 3421236666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS FHTd = &5 SONaRT SIcl &1 TR de1a Hliad B B w3 ;
L. BT eI ] SR (FRITel SETege 3 Carermo)
2. VY A -fich] GRIF (Tl i 3&ege)
R T E R CAREIGREREEIEUIRUEARE
4. B T BTt (T2l Tl DIt

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 42 Question Id : 3421236667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020, emphasised the need to standardise:

1. The Indian tribal dialects

f

. The vanishing languages

el

. The Indian Sign Languages (ISL)
4. The classical languages

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 42 Question Id : 3421236667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TPt Riem ifet, 2020 H FHIRA B1 HHS Y G B SR W &el 371 77
1. MR S SUHTY (qifera

2. faqqa geft e
3. HRAIG Gidbfcd HTEIE (TS, T, Ua,)
4. TN (SRATGDT) HIETT

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 43 Question Id : 3421236668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Department of Higher Education, MInistry of Educaton (Gol), which of the
following are considered as the Institutions of higher learning?

A. The National Institute of Fashion Technology, New Delhi
B. National Institute of Design

C. Indian Institute of Advanced Study, Shimla

D. National University of Education Planning and Administration (Neupa), Delhi
E. Rashtriya Sanskrit Vidhyapeetha, Tirupati

Choose the correct answer from the options given below:

[. A, B.C Only
2.B,C,D Only
3.A,B,D Only

4.C,D, E Only
Options :
1.¥1
2. %2
3.%3
4. % 4



Question Number : 43 Question Id : 3421236668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FRIET AT (MR WRER), B Fefelk 1T famT o o, e o 9 foet st ol
I ST T G T 1l 2

. 0 R S R, T o
B. D1 Feig TR (37d §Tede i1t fwrs)
C. T 3 A TR, Il (35 $iee 3t Ugaivs e )

D, BTG e T R e fawfaee (), foeeh

el Fe TC fachedt # 9 gt SR @1 9 BT
1.Hd A, B, C

2. BB, C.D

3. %40 A, B.D

4.53AC, D, E

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 44 Question Id : 3421236669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Atomism was propounded by which of the following schools of Classical Indian Philosophy?

|. Advaita

2. Vaigesika
3. Buddhists
4. Samkhya

Options :
1.9 1

2. %2



3. % 3
4. % 4

Question Number : 44 Question Id : 3421236669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG for g ST YR SRR B TerRYRT 5 GRATVIG 1 idureH fod 7 o o
L. 3gd
2. 39
3,915
4. 900

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 45 Question Id : 3421236670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological order of the following institutions of higher learning?
A. Rajkot College, Rajkot
B. Civil Engineering College, Roorkee
C. Sanskrit College, Calcutta

D. Sanskrit College, Benaras
E. Fort Williams College, Calcutta

Choose the correct answer from the options given below:

1LABEDLC
LG AEED
3.BEC.BA,
4.B,C,A,D,E

Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 45 Question Id : 3421236670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I S Bl (9iaRad Sl &1 98! HIcchd & IR fafgd &1
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B. [&fad SolifFaRe el , ead!
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4 feu U fqmedl § U @37 IR &1 999 DI

1.A;B,E,D,C

2CABED
3. DECEBA

4.B.C.A.D.E
Options :
1.9 1
2. % 2
3.%3
4, # 4
Sub-Section Number : 3

Sub-Section Id : 342123266
Question Shuffling Allowed : No

Question Id : 3421236671 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions.

We could argue that humans naturally follow rituals that keep us busy. In an unusuval way, rituals
permeate daily life and business practices in modern Japan. The main religions in Japan -
Confucianism, Buddhism, and Shintoism - are all ones in which the rituals are more important
than absolute rules. When doing business in Japan, process, manners, and how you work on
something is more important than the final results. What is indisputable, though, is that finding
flow in a “ritualistic workplace™ is much easier than in one in which we are continually stressed
out trving to achieve unclear goals set by our bosses.

Rituals give us clear rules and objectives, which help us enter a state of flow. When we have only
a big goal in front of us, we might feel lost or overwhelmed by it; rituals help us by giving us the
process, the substeps, on the path to achieving a goal. When confronted with a big goal, try to
break it down into parts and then attack each part one by one.

Focus on enjoying your daily rituals, using them as tools to enter a state of flow.

Sub questions

Question Number : 46 Question Id : 3421236672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do rituals influence business practices in modern Japan?

1. Results are prioritized over the process

I3

. Manners and processes are more important than the final outcome
3. Rituals are not significant in Japanese culture
4. Business processes are goal oriented

Options :
1.v1
2. %2
3.%83
4. % 4

Question Number : 47 Question Id : 3421236673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is easler to achieve in a ritualistic workplace compared to a goal - driven one?

1. Financial success

[

. State of flow
3. Stress and anxiety

4. Unclear goal

Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 48 Question Id : 3421236674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do rituals help us when we are confronted with a big goal?

1. Rituals make us feel more stressed

[

. Rituals provide clear process and substeps to achieve the goal

(]

. Rituals eliminate the need for goals
4. Ritvals allows us to ignore the goals

Options:
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 49 Question Id : 3421236675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Main religions in Japan emphasize on

1. The importance of rituals over absolute rules

(i)

. Goal over process
3. The irrelevance of rituals in daily life

4. Absolute rules over rituals
Options :
1.1
2. %2
3.% 3
4. % 4

Question Number : 50 Question Id : 3421236676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Role of rituals in human life

1. is to distract us from our goals

o]

. 1s to keep us busy and structure our daily activities
3. 1s very important during the religious practices only
4. s irrelevant in contemporary life

Options:
1.9 1
2. %2
3.%3
4, % 4

Question Id : 3421236671 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421236672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y ST | et SFFTH fbg UbR AR Trsit bl Yifdd Hid g 2
1. Ufch a1 1 i1 & TR &l urdffiddr &1 oIl g

2. TR IR ik, Sifcd uiRom &1 ol | Agayul ¢
4. FUIRD YfhaTT AeaI=1 gidl g

Options:
1.¥1
2. %2
3.%¥3
4, % 4

Question Number : 47 Question Id : 3421236673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. foreira e

2, 7T (dTg) i ST
3. 919 3R el

4. XYY o™

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 48 Question Id : 3421236674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U 99 160 U e ol TR 3 IR e {8 fohdl YR gHI Tige e § 2
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Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 49 Question Id : 3421236675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 50 Question Id : 3421236676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.9 1

2. %2

3.%3

4. % 4

Philosophy

Section Id : 34212391
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92
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Section Marks : 200
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Sub-Section Number : 1
Sub-Section Id : 342123267
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421236677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

Nava Description

A |Sangraha- naya | I | Aname should be applied to an object only when tts meaning 1s fulfilled

B.|Rjusitra- nayva | II. | When particulars alone are viewed as real and universals are rejected as unreal

C Evambhita- I The particulars are reduced to a sertes of moments and any given moment is
" |nava "|regarded as real

: _ . | When untversals alone are treated as absolutely real and particulars are rejected
D. [Vyavahara- naya | IV e e

Choose the correct answer from the options given below:
[. A-IV,B-IIL C-1, D-II
2. A-IL B-1, C-II, D-IV
3. A-IL B-IV, C-1, D-III
4. A-IV,B-I, C-III, D-II

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 51 Question Id : 3421236677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 Y Gl 11 1 e Bifei

H%] 11
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TOYT- |11 | o7 faRw i &0 - U o &0 5 ¢ oIl & R &0 &1 G 341 ol 8|
TGER - 79 | IV. | 7d "FIHIY &I QURET & § 717 ol § R TR B1 3 A1 ol 3

I feU U fdaedt § U Tgt ST &1 94 DI

L. A-IV, B-IIL, C-I, D-II

=1 el RN R

2. AL B, C-I, D-IV
3. AL B-IV, C-I, D-II

4. A-IV, B-I, C-III, D-II

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 52 Question Id : 3421236678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following can be correctly claimed

A. Samkhya upholds the plurarity of Purusas
B. Evolution, according to Samkhya is linear
C. Samkhya posits the theory of Samyogabhasa (semblance of contact) between Purusa and

Prakrt1
D. The second evolute of Prakrti 15 Mahat
E. Buddhi, for Sarkhya, is essentially conscious

Choose the correct answer from the options given below:

|. Band C Only
2. Aand C Only
3. D and E Only

4.Band E Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 52 Question Id : 3421236678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafcfad # 4 oY 9 ¢

A. ST T3Y Pl Fgeld] WIdRA g |

B. T & 3FUR 4™ Ud - 3T E|

C. ST G2 3R Yhid & T GOmIH (i $1 Sredd) & fgid ad ¢l
D. Yopfdl & fadrgeha 1§ Hgd g1 dd g

E. G & STUR i 9o 6|

HTd feu T fdhedl § Q Fp1 IR & 95 BIoC:
|.Had B AR C

2. Had A IR C
3. 99AD AR E
4. Hdd B IR E

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 53 Question Id : 3421236679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What among the following can be correctly claimed

A. Prabhakara and Kumarila both accept Anuplabdhi as an independent Pramana

B. For, Kumarila, Anuplabdha padartha cannot be perceived, for there is no sense- object
contact

C. The Naiyayikas reduces Arthapatti to Anumana
D. Prabhakara and Kumarila both admit Arthapatti as an independent Pramana
E. For Kumarila, Anuplabdha padartha can be known through inference.

Choose the correct answer from the options given below:

1. A, Band C Only
2.B, C and D Only
3.A, Cand E Only

4.A,Dand E Only
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 53 Question Id : 3421236679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[fiRad | U &I $UF 9l ¢
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|
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el Fe TC fachedt # 9 gt SR @1 9 BT
1.5 A, B3R C
2. Bt B, C HRD
3. B A, C AN E
4. 537 A, D HRE

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 54 Question Id : 3421236680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Madhva Vedanta distinguishes into four orders of Mukti, the correct sequence is:-
A. Karma- ksava
B. Utkranti- laya

C. Aciradigaman
D. Bhoga

Choose the correct answer from the options given below:

1.A,B,C.D
2.B.ACD
3.B,C.A,D

4B,AC,D



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 54 Question Id : 3421236680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hed 4aid § Gkl & IR TIUH 8, 3701 Tg1 hH HEfRad ¥ 4 g2

A BH- &g
B. 3abild - @4
C. RIS
D. HITT

A fGu T faw el § U gl SR &1 99 B

1.A,B,C,D

[

B4 CD
3.B,C;AD
4.B,A,C,D

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 55 Question Id : 3421236681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Authors) (Books)
A | Bhasarvajfia I. |Padarthatattva- nirfipanam
B. |Raghunath Siromani| IL. Nyava- Bhiisanam
C. | Vallabhacarva III. | Tarkabhasa
D. | Kesava Misra IV. | Nyaya- Lilavat

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV
2. AL B-1, C-1V, D-III
3. A-IIL B-I, C-1V, D-II

4. A-IV, B-1I, C-1, D-III

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 55 Question Id : 3421236681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

olo|w|s

2. A-11, B-1, C-1V, D-111
3. A-1IL, B-1, C-1V, D-II

4. A-IV, B-11, C-1, D-III

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 56 Question Id : 3421236682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the underneath philosophers in chronological sequence in an ascending order:-
A. Udyotkara
B. Udayanacarya
C. Vacaspati Misra
D. Gadadhara Bhattacarya
E. Vardhamana Upadhyaya
Choose the correct answer from the options given below:
1LACRBED
2.C,A,B,D,E
3LCBADE
4 ABDEC

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 56 Question Id : 3421236682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRd SRS & SIHHT & RIS HH T AT H:-

E. 34HM ST
i feu MU fadhedl © O gat 3R &l 994 SHifoie:

1.LA,C,B.E.D

(]

O ABDE

[F¥]

A BADE

4.8, B D E C



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 57 Question Id : 3421236683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Author) (Book)
Citsukha I. |Bhagwad- Bhakti- Rasavana
Suresvara II. |Paficapadika Vivarana

Madhusudan Saraswati | III. | Naiskarmyva- Siddhi

olo|w|»

Prak3samma Yati IV. | Tattva- Pradipika

Choose the correct answer from the options given below:

1. A-I1, B-1, C-1V, D-III
2. A-1, B-III, C-1V, D-II
3. A-IV, B-1, C-1I, D-ITI

4. A-IV, B-II1, C-1, D-II

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 57 Question Id : 3421236683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II, B-I, C-IV, D-III
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(]

CA-L B-III, C-IV, D-1I
3. A-IV, B-1, C-1I, D-III

4. A-IV, B-III, C-I, D-II
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 58 Question Id : 3421236684 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The knowledge of the non-dual relation between Brahma and Jiva, through Mahavakyas is
through the following pramana in Vedanta- Paribhasa:

. Sabda- pramana

2. Savikalpaka- pratyaksa
3. Nirvikalpaka- pratyaksa
4. Anumana

Options :
1.9 1
2. % 2
3.%3



4. % 4

Question Number : 58 Question Id : 3421236684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el URMTST o SFTER ofid 3R 5131 o i 3fHG (3gd) HaY &1 JH o8 THm Y il 2
1. X065 - YT

). Gidhedd - Uy
3 Fidec® - Ty

4. 3{HI

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 59 Question Id : 3421236685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
In the context of Purva-Mimarmsa, what among the following can be claimed

A. For Kumarila, knowledge leads to successful activity.

B. For Prabhakara, all knowledge, vedic or secular, points to activity
C. A Varpa is non-eternal but Sabda is eternal

D. A word signifies a particular object.

E. The relation between word and its meaning is natural, necessary and internal.
Choose the correct answer from the options given below:

1. Aand C Only
2. Cand D Only
3. B and D Ouly
4.B and E Only

Options :
1.¥1



2. % 2
3.% 3
4. % 4

Question Number : 59 Question Id : 3421236685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T4 - A Yo o Fafeied § ¥ oY ouT 9 6

A. HHIRE @ IR JH Yqf Yhed 31 SUGH ¢
B. FHTHY o SFER dfcd 1 3fdfcd T THR S JH b1 3l Ffedd B g
C. U 3 g difch Tt M g

D. ¥Tsg, fq1y a%] & Gdhd BT G |
E. ¥ 3R 314 & o Yay WIpfeih, 3Miar 3R 3HidRa 3|

HTd feu T fadetl § 4 Fg1 IR &1 95 BT
1. Pad AR C

2. $Hdd € IR D
3. Hdd B IR D
4. HAAB INE

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 60 Question Id : 3421236686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following do not affirm the existence of Prakriti.

A. Evolution means manifestation of the implicit as the explicit
B. The unity of the universe points to a single cause.

C. The finite cannot be the cause of the universal. The infinite, independent, unlimited is the
source of universe,

D. All objects are composed of three gunas and it logically presuppose the existence of an
entity that is wittness to them

E. All compound objects exist for the sake of Prakti
Choose the correct answer from the options given below:

1. A. B Only

2.C,D Only

3.B,D Only

4.D, E Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 60 Question Id : 3421236686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| HadA,B

2. HAAC,D
3. B9dB.D
4 BAAD.E

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 61 Question Id : 3421236687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Consider the following about texts of Indian-Philosophy and identify the correct items:-
A. “Laukiko- margo- anusartavyah” is the view seconded by Jayarasi
B. ‘Tttvopplavasimha’ 1s a Vaitandika text
C. Vaidalya- siitra supports the assertion of Nyaya- Siitra
Choose the eorrect answer from the options given below:

1. Aand C Only
2. A,Band C Only
3.Band C Ounly

4. Aand B Only

Options :



1.¥1
2. %2
3.%¥3
4. % 4

Question Number : 61 Question Id : 3421236687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT G2 U1 & SR H R Ul W fGaR & 3R gl HUl Pl UgaH He-

A, “Cllihd! AT 3fef8ciod: faR T Iy < T fopan
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L Baq AR C

2. HdAA B IR C
3. BAdB AR C
4. $dd A IR B

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 62 Question Id : 3421236688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect?
. Vijianvadin Buddhism believes in Sva-prakasavada
2. Buddhists reject Pramana- Samplava

3. Nyaya adheres to Para-Prakasavada

4. For Vaibhasika, perception as a source of external world's knowledge cannot be conciliated
with ksanikavada



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 62 Question Id : 3421236688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. 91 T - GRS B 3EIPR el g

3., R - THRIAIG 6T TR0 Bl ¢
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 63 Question Id : 3421236689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the consistent items with the vedantic- view of perception

A. Kedarl- kulya- Nyaya

B. Transcendental knowledge is related to Vrtti Caitanya
C. Pramatr- Caitanya Is related to subject

D. Pramatr- Caitanya Is related to object

Choose the correct answer from the options given below:
1. Aand B Only
2. A,Band D Only

3. B and C Oaly

4. Aand C Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 63 Question Id : 3421236689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dal Hd 4 Ue & Ya ¥ U HyA 3 ugaH -

A. DeRl - Dl - ™

B. 3di=g I gfd 90 I Gdfed g
C. UHI1q - 99 [99g ¥ Yefed ¢

D. 1] - 99 93] ¥ GdfUd g

I feu U 9 el § U T 3R &1 994 DIfSIU:
|.Hdd A 3R B

2. Hdd A, B 3R D
3. %hdd B3R C
4. had A 3R C

Options :



1.¥1
2. %2
3.%¥3
4. % 4

Question Number : 64 Question Id : 3421236690 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

You explain the meaning of the term hyena to your friend by giving its description since you are
quite familiar with hyenas. Two of you go to a jungle and see a creature, your friend recalls your
description and compares it to the creature and knows, “this is 'hyena’, ™ in that situation your
knowledge, “this is hyena” is through (as per nyaya) :-

|. Pratyaksa
2. Anumana

3. Upamana

4. Sabda

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 64 Question Id : 3421236690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. qsq

Options :



1.¥1
2. %2
3.%¥3
4. % 4

Question Number : 65 Question Id : 3421236691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are incorrect

A. For Leibniz, our ideas of space, figure, motion have their origin, in the common sense, in the
mind itself

B. For Spinoza, thought and extension are separate substances

C. According to Hegel, concrete universal notion is the synthesis of opposites

D. According to Kant, all synthetic judgements give us genuine knowledge

E. According to Berkeley, the idea of soul can be formed on the basis of its acts.

Choose the correct answer from the options given below:

I. A, CandD Only
2.C,D and E Only
3.A.Band D Only

4.B.D and E Only
Options :
1.1
2.% 2
3. % 3
4. % 4

Question Number : 65 Question Id : 3421236691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 66 Question Id : 3421236692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Humean View) (Its justification)

A |Empirical | I |Our knowledge is limited to the world of phenomena.

. |Posttivistic | I | Our knowledge has its source in experience

B
C. |Agnostic | III [ We know nothing of the ultimates
D

. |Humanistic | IV. | The human mental world is the only legitimate sphere of science and enquiry

Choose the correct answer from the options given below:

1. A-I B-IL, C-IIL D-IV
2. A-IL B-II, C-L, D-IV
3. A-IV, B-I, C-II, D-III

4. A-IL B-[, C-III, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 66 Question Id : 3421236692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1D 1Y Gal 11 6 e Sifor

I I
@ F fm) G $iifw)
A |aufa® | 1 |EERIEE U9 & 9UR 9@ 4k
B |Ud@&aEl | 1L |BHR I &1 9 34a 6l
C. |eimardt | . (W SifH 9 & SR H @ i 15l I §
D. |HHadEG | IvV. |HHa AHR® S9R fagH SR Ja31 &1 UaH a9 & 5|

Il feu U et o 9 g1 IR &1 95 PIloL:
L. A-L, B-IL, C-I1I, D-IV
2. AL B-IL C-L D-IV
3. A1V, B-1, C-1I, D-IIT

4. A-11, B-1, C-1IL, D-IV

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 67 Question Id : 3421236693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
(Kant's Judgment) (Example)
The Particular Judgment [. |Every effect must have a cause.
The Infinite Judgment IT. |If the air 1s warm, the thermometer rises.

The Hypothetical Judgment | III. | Mind is unextended

olo|w|»

The Apodictic Judgment IV. | Some animals are herbivores.

Choose the correct answer from the options given below:

1. A-I, B-I1, C-IIL D-1IV
2. A-L, B-1V, C-I1, D-1II
3. A-IIL B-1V, C-I1, D-1

4. A-IV, B-III. C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 67 Question Id : 3421236693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV
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2. A-1. B-IV. C-1I. D-III
3. A-IIL B-IV, C-11, D-1
4. A-IV, B-1II, C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 68 Question Id : 3421236694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The crux of Kant's Transcendental Method lies in the argument that it leads:
1. From the presuppositions to their logical outcomes
2. From experience to its necessary presuppositions
3. From individual experiences to general experiences
4. From one postulate to several other leading postulates

Options :
1.¥1
2. % 2
3.%3
4. % 4



Question Number : 68 Question Id : 3421236694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Bbic BI *3fdifa fafe &1 R 39b g9 ddb H ¢ fob:
L. QdH=IdTS U 3Y®! difdhes URUId &1 3R d S g
2. 3YT Y IUPI D A3 Dl 3R o A ©
3. AT YT I GHRT 34T DT 3R o ST 8
4. TP JaYb O § By (:9d Jdddbea-13] df SR d Sidl ©

Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 69 Question Id : 3421236695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The following assertions are attributed to Rene Descartes:

(A) I know that I perceive the truth clearly and distinctly, because God exists and is not a
decelver.

(B) I know that God exists and is not a deceiver because I perceive this truth clearly and
distinctly.

In the logical terms, the above mentioned assertions commit the informal fallacy called as:

1. Appeal to Authority
2. Complex Question
3. Circular Reasoning

4. Appeal to Ignorance

Options :
1.9 1
2. %2
3.%3
4, % 4



Question Number : 69 Question Id : 3421236695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. ST Al

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 70 Question Id : 3421236696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to John Locke, sometimes the mind perceives the agreement or disagreement of two
ideas by direct inspection, without the intervention of any other ideas. Such knowledge is called:

. Hypothetical Knowledge
2. Sensitive Knowledge
3. Intuitive Knowledge

4, Demonstrative Knowledge

Options :
1.¥1
2. % 2
3.%3
4. % 4



Question Number : 70 Question Id : 3421236696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 71 Question Id : 3421236697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rene Descartes defends the external world by posing following arguments:

A. Belief in an external world is not natural.

B. The mind is primarily its conceptions.

C. Imagination and perception do not depend just on conception.

D. Belief in an external world is required to explain the phenomena of imagination and
perception.

E. The existence of an all-perfect God is the surest guarantee of the external world.

Choose the correct answer from the options given below:
[.A,B,C,DOnly
2.B,C,D,E Only
3.A,C.D.E Ounly

4.A, B, D, E Only

Options :
1.1

2. %2



3. % 3
4. % 4

Question Number : 71 Question Id : 3421236697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. $9d A, B,C,D
2. $ddB,C,D,E
3. 440 A, C,D,E
4. 590 A, B, D, E

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 72 Question Id : 3421236698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Thinkers) (Ancient School of Philosophy)|
Hippo, Idasus, Diogenes [. |The Stoics

Xenophanes, Parmenides, Zeno | II. | The Atomists

Leucippus and Democritus III. | The Ionic School

olo|w|»

Zeno, Cleanthes, Chrysippus IV. | The Eleatic School

Choose the correct answer from the options given below:

1. A-1, B-IlI, C-IV, D-I
2. A-IIL, B-IV, C-11, D-1
3. A-IV, B-1, C-1I, D-III

4. A-IL, B-1II, C-I, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 72 Question Id : 3421236698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-III, C-IV, D-II

olo|w|s

2. A-IIL, B-1IV, C-11, D-1
3. A-IV, B-1, C-1I, D-III

4. A-I1, B-III, C-1, D-IV
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 73 Question Id : 3421236699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The philosophic knowledge that stands as the preserve of *philosopher- rulers’ is expressed in:

A. The Simule of the Sun

B. The Divided Line

C. The Story of the Flying arrow
D. The Simile of the Cave

E. The Parable of the Beast

Choose the correct answer from the options given below:
I. A, B, COnly
2.A,B.D Only
3.B,C,D Only
4.D, C,E Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 73 Question Id : 3421236699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 74 Question Id : 3421236700 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Modern “Brain in a Vat™ arguments are direct descendants of :

1. Aristotle's Akrasia

[

. Cartesian Doubt
3. Humean Doubt
4. Hegelian Geist

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 74 Question Id : 3421236700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 75 Question Id : 3421236701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-TT

LISTI LISTII
[(Aristotelian Terms)| (Meaning of the Term)
A |Phronesis I. |Flounishing
B. |Arete II. | Weakness of the will
C. |Akrasia IIT. | Virtue or Excellence
D. |Eudaimonia IV. | Practical Wisdom

Choose the correct answer from the options given below:

1. A-I, B-1I, C-III, D-IV
2. A-IL, B-1, C-1V, D-III
3. A-IIL, B-IV, C-1, D-II

4. A-IV, B-1I1, C-1I, D-1

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 75 Question Id : 3421236701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV
2. A-11, B-1, C-1V, D-111
3. A-IIL B-IV, C-1, D-II

4. A-IV, B-III, C-II, D-I
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 76 Question Id : 3421236702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which of the following is not in line with the philosophical thought of St. Thomas Aquinas

. Faith 1s a gift from the creator

2.1t is better to know an object of greatest magnitude imperfectly than to love it

3. Indetermination is one of the characteristics of the will

4. Grace is a bridge between an infinite creator and a finite creation

Options :
1.9 1
2. % 2
3.%3
4, % 4



Question Number : 76 Question Id : 3421236702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 77 Question Id : 3421236703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
“Credeut Intelligas™ (Believe in order that vou may understand) is a dictum of

1. St. Augustine

]

. St. Anslem
3. St. Thomas Aquinas
4. Protagoras

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 77 Question Id : 3421236703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 78 Question Id : 3421236704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can not be attributed to Leibniz

1. The source of mechanics lies in metaphysics

2. Bodies act according to the laws of final causes, by means of desire, ends and means.

3. Monads are spiritual

4. Every Monad is ‘charged with the past’ and and 'big with the future,

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 78 Question Id : 3421236704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 79 Question Id : 3421236705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-II
Match the definition of happiness with the system of philosophies

LISTI LIST II
Psychophysical happiness I |Nyvaya
Absolute absence of misery II. | Vedanta

Absolute separation of soul from Body | III. | Carvaka

olo|w|s

Blizsfulness IV, | Jamism

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-1IV, D-1I
2. A-II. B-III, C-I, D-IV
3. A-IIL, B-11, C-1IV, D-1

4. A-I1, B-1V, C-I11, D-I
Options :
1.¥1
2. % 2
3.%3
4. % 4



Question Number : 79 Question Id : 3421236705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-I, C-IV, D-II

[

. A-IL B-III, C-I, D-IV

(%]

. A-IIL B-II, C-1IV, D-1
4. A-II, B-IV, C-III, D-I

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 80 Question Id : 3421236706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following Asrama is also known as “Vaikhanasa™?

1. Grhastha

2. Brahmacarva
3. Sannyasa

4. Vanaprastha

Options :



1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 80 Question Id : 3421236706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. dIIUR]

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 81 Question Id : 3421236707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which combination among the following constitutes the meaning of 'Karma"?

A. You reap what you sow.

B. The present life is a by chance occurrence.

C. You don't get the result of an unperformed Karma.

D. All our decisions are entirely determined by previous Karma.
E. The law of causation is compatible with the theory of Karma.

Choose the correct answer from the options given below:
1.B,C,D Only
2. A, B, C Only
3.A,C,E Only
4.B,D, E Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 81 Question Id : 3421236707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 82 Question Id : 3421236708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Nitya Karmna [. | We should take bath daily.

Naimittika Karma | II. |If we want to clean ourselves, we should take bath daily

Kiamya Karma [II. | We should take bath after eclipse

olo|w|s

Nisiddha Karma | IV | We should avoid stale food.

Choose the correct answer from the options given below:

l. AL, B-IL C-III, D-IV
2. A1, B-IM, C-IV, D-II
3. A-L B-IIL C-II D-IV

4. A-IV, B-11, C-1, D-II

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 82 Question Id : 3421236708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L, B-II, C-III, D-IV

olo|w|=

2. A-L, B-IIL, C-IV, D-II
3. A-L B-IIL C-I1, D-IV
4. A-IV, B-II, C-I, D-III

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 83 Question Id : 3421236709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What are the factors of Cikirsa, according to Nyaya philosophy, among the following?

A. Balavad anista asambhavyata jiana
B. Prarabdha phala jiiana

C. Krtisadhyata jiana

D. Istasadhanata jiana

E. Akarmasadhyata jiana

Choose the correct answer from the options given below:
1.C,D, E Only
2. A, C,D Ouly
3.B.C,D Only
4. A, B, C Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 83 Question Id : 3421236709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 84 Question Id : 3421236710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which, among the following sense Apiirva is not considered

|. Karma

[

. Relation between Karma and its result
3. Sanskara
4. Sadhana/ Karya/ Linga

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 84 Question Id : 3421236710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.9 1
2. % 2
3.%3
4. % 4



Question Number : 85 Question Id : 3421236711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following elements of Pratityasamutpada in correct cause- effect order:

A. Nama- riipa
B. Vedana

C. Sadayatana
D. Trsna

E. Sparsa

Choose the correct answer from the options given below:
[. A-E-D-B-C
2.A-C-E-BD
3.A-B-C-D-E
4. A-C-B-E-D

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 85 Question Id : 3421236711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ydlaure & Fufagd sgdl & 98l HRU - FU1d 63 § oJafedd Bifdv:

A AHEY
B.dcl
C. ¥Yolidd
D. quII
E. WY

+d feu U fadetl § ¥ T3t IR B 909 I

1. A-E-D-B-C

2. A-C-E-B-D
3. A-B-C-D-E

4. A-C-B-E-D
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 86 Question Id : 3421236712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

No one can stay without action even for a moment due to

................. according to the
Bhagavadgita.

1. Guna of Prakrti
2. Divine Will
3. Compassion

4. Cowardice

Options :
1.¥1
2. % 2
3.%3
4. % 4



Question Number : 86 Question Id : 3421236712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. UPid b0
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3. R0

4. DI
Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 87 Question Id : 3421236713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Authors) (Books)
A |Henerv Sidgwick | I. |Data of Ethics
B. |Herbert Spencer | II. |Ethics
C. |15 Mill ITI. |Outlines of the Historv of Ethics
D. |G. E. Moore IV, |Utilitarianism

Choose the cerrect answer from the options given below:

1. A-1, B-III, C-IV, D-II

[

- A-IITL B-IV, C-1, D-II

L

- A-IIL B-1, C-IV, D-II

4. A-1, B-1I, C-1II, D-IV

Options :
1.9 1

2. %2



3. % 3
4. % 4

Question Number : 87 Question Id : 3421236713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1S 1Y G 11 &1 e Sifse
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1. A-1, B-IlI, C-IV, D-II

olo|w|s

2. A-IIL, B-1IV, C-I, D-II
3. A-IIL B-I, C-IV, D-II

4. A-1, B-1I, C-I11, D-IV
Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 88 Question Id : 3421236714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the “naturalistic fallacy™?

1. A problem created by the Nature

[

. Human being is by nature problematic

[

. Mistaking an ethical judgement with a factual one

4. Focusing on the good of nature



Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 88 Question Id : 3421236714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 89 Question Id : 3421236715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is not true to Utilitarianism?
1. An action 1s good if it produces useful things.
2. An action is intrinsically good or bad.
3. The merit of Law is due to its effect.

4. Good is equivalent to pleasurable.

Options :
1.41
2. %2
3.%3
4, % 4



Question Number : 89 Question Id : 3421236715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 90 Question Id : 3421236716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-TI with List-IT

LISTI LISTII
(Thinkers) (Thoughts)

Jeremy Bentham | [ | Good means [ approve it.

I.5 Mill II. | Quantitative distinction of pleasure.

CL. Stevenson | III. | Good means I prescribe 1t

ola|w|»

E.M. Hare IV, | Quantitative distinction of pleasure

Choose the correct answer from the options given below:

1. A-II, B-IV, C-1, D-III

(]

. A-IL B-IV, C-II., D-1II

(%]

. A-II, B-TII, C-1, D-IV

4. A-I1, B-1V, C-II1, D-I

Options :
1.9 1



2.% 2
3.% 3
4. % 4

Question Number : 90 Question Id : 3421236716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 1D 1Y Gt 11 &l e difse
I Il
Ao o
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c. |4 va EEua| m |z & arad § e § 34 He R S g
D. |3R. AR | IV |98 & oeams uie

A1 fau U fasedl & U It 3R &1 9894 DIl
1. A-IL, B-IV, C-I, D-III
2. A-1, B-IV, C-II, D-I1T
3. AL B-IIL, C-1, D-IV

4. A-II, B-1V, C-III, D-1
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 91 Question Id : 3421236717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
(Thinkers) (Thoughts)
A |Henrv Davie Thoreau| 1. |Be a member of a kingdom of ends.
B. |GE. Moore II. | That government 1s best which governs the least
C. | Immanuel Kant III. | My station and its duties
D. |EH. Bradley IV. | Good 1s simple and indefinable

Choose the correct answer from the options given below:

1. A-L B-IL C-IIL, D-IV
2. AL, B-IV, C-1, D-IT
3. A-1I, B-1V, C-II1, D-1

4. A-IV, B-II, C-I, D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 91 Question Id : 3421236717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-IIL, D-IV

olo|w]|»

[

. A-IL, B-1V, C-1, D-III

LS

. A-II, B-1V, C-II1, D-1

4. A-IV, B-1I, C-1, D-III

Options :
1.1
2. % 2
3.%3
4. % 4

Question Number : 92 Question Id : 3421236718 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. Highest good in Kant is goodwill.

B. Henry Sidgwick's view of utilitarianism is Rational Utilitarianism.
C. 1.S. Mill does not accept quantitative differences in pleasures.

D. The number of virtues in socrates is ‘one’.

Choose the correct answer from the options given below:

1. A, B, C Only

[-2

.A.B.C,D Only

T

.B. D Only

4. A, C Only



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 92 Question Id : 3421236718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad eyl ¥ 19 4 Ul 82

A. Pie & ATUR Yaied IH IHIHA B

B. oI [Sfde &1 Iugifiidrare difbd Sudifidrare gl
C. S TH. fid G H A faHel &1 181 A1 g

D. YHRId & YR YSIUN | I T ¢

I feu U fad el § U T 3R &1 994 DIfSIU:
. $HdA A, B, C

2. HIddA.B.C.D
3. Hdd B.D
4. HAAA. C

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 93 Question Id : 3421236719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which theory among the following is not compatible with capital punishment?

1. Deterrent Theory

2. Reformative Theory
3. Retributive Theory
4. Preventive Theory

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 93 Question Id : 3421236719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafarad # 9 e field 9 <8 9 g871d 781 82
1. Fgares [fsid

 GURTHSD i

3. UR=NTHS gl

4. UfeRIuTHD gid

Options :
1.9 1
2. % 2
3.%3
4, % 4

(g

Question Number : 94 Question Id : 3421236720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one among the following is not a Metaethical question?

1. What is the meaning of a moral judgement?

(i)

. What is the meaning of *Good’?

(el

. What is the right thing to do?
4. Can moral judgements be proved?

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 94 Question Id : 3421236720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAaferRad | O 191 AT U™ Uy Jel g2
1. fde g &1 =™ 31 g2

2. Y BT 3R A1 g2
3. &3 & foIU gaifad & g2
4. 1 Afds Foig oI [ faogn S 9abar g2

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 95 Question Id : 3421236721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following is not a true statement with reference to Metaethics?

1. Some non-cognitivists are intuitionists.
2. For an emotivist, “Killing is bad™ means “Killing, boo!”
3. C.L. Stevenson is not an emotivist.

4. According to G.E. Moore, the meaning of an ethical term can be intuited.

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 95 Question Id : 3421236721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HYTIRA & e § FyiaRad § ¥ & HA1 Y4 I3 Tl 87
1. S UFHAET f:uarg! €|
2. Uh ATAIET & IR <gdl 31 g &l AR g “fodp g

3. 1. Ud. TId9d U Ydarel =gl o

4. 51 T TR & YR, i g BT 3 3 Y & Jhd ¢

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 96 Question Id : 3421236722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are true to Intuitionism?

A. Conscience s a universal faculty of all persons.

B. Rightness and wrongness are inherent qualities of actions.

C. Actions are intrinsically right or wrong.

D. The moral merit of an action is dependent on its result,

E. Conscience reveals the rightness of an action by way of perceiving its consequence.

Choose the correct answer from the options given below:
1. A, B, C Only
2.C,D, E Only
3.B.D. E Only
4.B,C,D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 96 Question Id : 3421236722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3fd:uTTare & ey H FHRad 3 9 &1y &Y 9d 5o

A. g gui el § o g

B. 31dd 3R 3ffdd dH & Hdfifgd T gl

C. HH WG Gﬁlﬁmﬂﬁﬁlﬂgl

D. Udh HH & iddb 701 I TR R (LR P18

E. 39T [h3 B & 3{ifad B 39D URUMH & YR TR &2l g

id feu U fadhedl § 9§37 IR $I 999 DT
|.hdd A, B, C

). HAAC.D.E
3. $9dB.D.E
4. H9dB.C.D




Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 97 Question Id : 3421236723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is an inconsistent thought in the light of Swami Vivekananda

1. Monistic Idealism

2. Reality is determinate

3. No distinction of qualifications can be ascribed to Reality
4. As a pantheist, he holds God to be personal

Options :
1.9 1

2. % 2
3. % 3
4. % 4

Question Number : 97 Question Id : 3421236723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgferad # 9 o @l f[dddre & 94 H 3[d [dar 2

1. Uhcddie] Haddiq
2. G uRfAd g
3. 9q W dls 4 Ye 3R [G290r 3RIUd 961 fbu oIl Yahd

4. U YadyRdel & 0 H d 34 DI Al Td HHd g |

Options:
1.9 1
2. %2
3.%¥3
4. % 4



Question Number : 98 Question Id : 3421236724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is incorrect in the light of Sarvepalli Radhakrishnan

1. Man is a combination of egoism and self-transcendence.
2. Universe is a planned activity
3. The created world is not an illusion

4. World is an ordered whole.
Options:
1.1
2. % 2
3.% 3
4, % 4

Question Number : 98 Question Id : 3421236724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YUt AUHUH & YR FHHfRad § S Y 39d g2
. AT Tdhi=d R & Y U S T Yo 8

SRS U Gfaiford fobar 8

4. STq U HaiYd GAT 8

[

[

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 99 Question Id : 3421236725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Annihilation of Caste of Ambedkar has a detailed response to:-

1. Gandhi

(i)

. MLN. Roy

(el

. Nehru
4. D P Chattopadhyava

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 99 Question Id : 3421236725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ISP DI UMRARH B IR I Uh fd¥gd SR g
. e
2. TH. TG
3. 78
4. S1 UL ATy

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 100 Question Id : 3421236726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The following from Upanisad-s encapsulates the entire message of Hindu religion as per Gandhi:-

1. Bhrgu- Varuna dialogue in Taittiriya
2. Yama- Naciekta samvada in Katha
3. Satyameva Jayate from Mundaka

4. The first verse from Isa

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 100 Question Id : 3421236726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i) & SFER Sufvel H FafciRad o 9 o fgg v o1 dyuf {18 61 IR §:-
1. ditRIg o 4] - G 01 gag
2. B¢ U gu.Afddhd Hdg
3. 450§ YgHd oiad
4, S BIUYH A

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 101 Question Id : 3421236727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The following is not a feature of Gnostic Being in Sri Aurobindo:-

1. He has undergone supramental transformation
2. He relentlessly works for materializing the divine life

3. There are types of Gnostic Beings, such as intuitional, overmental, etc.

4. He is same as Jivanmukta of Vedanta
Options :
1.1
2. % 2
3. %3
4. % 4

Question Number : 101 Question Id : 3421236727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 3Rfde ¥ yFHdIcl g4 &I FHafiRad d U DIl U [qRivd g1 g2
1. 98 ATIHHRIS TR0 ¥ R g

2. d 3[R ¢ Siad bl YIHR & & oIt JaRRd ¢ |

3. USHAIG! 814 & &g UBPR g oY 3id:USTdHS, AN S 31|
4.9 d¢id & SilgTgdd & G Sl g |

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 102 Question Id : 3421236728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The following is not true about Radical Humanism of MN Roy:-

1. It is basically a type of speculative ontology

(i)

. The ethical norms are this- worldly

(el

. To be moral one needs to be only human
4. Freedom is the highest value

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 102 Question Id : 3421236728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TH. T4 & Jeh ¢ AFAdIAIG & aR H Fafeiad H 4 SI91 &Y 9 el 6
|. T8 G0 3 U TR & URP eI T g
2. FiARS AMES Tgcdlidhd §
3. e g & feTT el W1 GIFTT ST g

4, WA FH A ¢ |

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 103 Question Id : 3421236729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following can be claimed in the context of Neitzche's moral thought

A. The idea of superman is an attempt to restore the ideals of master morality.
B. Master morality asks the man to be empathetic.

C. The values of the master are expressions of the will to power.

D. Master-morality creates its own values,

E. The slave can one day become the master.

Choose the correct answer from the options given below:
1. B, C and E Only
2.C, D and E Only
3.B. D and E Only
4. A, Cand D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 103 Question Id : 3421236729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1l & e foaR & He | FgfaRed H § o8 o3 93 8

A, H{HHd BT [daR W Hfddhdl & 31 bl RN $H 3 U6 TN 5|
B. W Aqdhdl fdd B RIgYfdd g & ol Bl |

C. @I & Yl el Bl 31 D1 3o fdgi ¢
D. Wl Afdddr 30 Ted WY (Hitd B g
E. T U6 o] Wil 99 9l 3|

1 feu el # 4 gt IR & 954 Bifele:
|.Hdd B, C AR E
2. $9d C, D ARE
3. 990 B, D AR E

4, A A, C IRD




Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 104 Question Id : 3421236730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrectly matched

1. 'Here 1s a Hand' argument- G.E. Moore

[

. Systematically Misleading Expression- Gilbert Ryle

[

. Virtue Epistemology- A.J. Ayer
4. Naturalized Epistemology- Quine

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 104 Question Id : 3421236730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffeiRad & ¥ S-a1 Ted U 4 gaferd g2
1. T8 U 81 & IfeT - SIL. 5. 7R
2. fiTiee sl PHMHER Hdd YAl
3. YGIUT HHEHNT - T S 3RR

4. UThd JHHIHIYT - D13

Options:
1.9 1
2. %2
3.%¥3
4. % 4



Question Number : 105 Question Id : 3421236731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The idea through which Husserl dispels solipsism is

1. Transcendental Monadology

[

. Lenbenswelt

(]

. Phenomenological Reduction
4. Ego, Cogito, Cogitata

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 105 Question Id : 3421236731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gad Sgardidie &l by fadRr T disd ®d g°

1. dleaid faeudlg
. Sitd SiTd

3. UGRIRIRE 30=gd
4. 3711, DIFEI, PiffTereT

Options :
1.9 1
2. % 2
3.%3
4, % 4

[

Question Number : 106 Question Id : 3421236732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the context of “Phenomenological Reduction’ what can not be claimed

A. The act by which bracketing is made possible is called ‘epoche’

B. According to Husserl, there is only one type of reduction 1.e. Phenomenological
C. ‘Epoche’ is going to be a position of the origin of our knowledge

D. “Cartesian doubt” and “Epoche’ are essentially same for Husserl.

E. ‘Epoche’ eliminates all elements which make doubt possible.

Choose the correct answer from the options given below:
I. Aand C Only
2. B and E Only
3. C and E Only
4. B and D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 106 Question Id : 3421236732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRR 09T & Yo # Ffifad § 4 o0 Y1 9 62

A. DIFHIBRU D] GYd G4 & S S -TUIBI DHgd g

B. §Hd & IR hdcl Uh UDHR Bl TG 3id Gg=dia € |

C. 30! AR 9 $ IR Bl U fRufd gicli 31

D. ‘SHRAY Hag 3R Ul gUd & [T e ¥U Y Uh a1 ¢
E. ZUI1 U¢g Iad HY Y dTd GHT dedl &1 I Xl g

i feu MU fadh el § ¥ §67 3R &I 99 DI
|.$Hdd A AR C

2. Had B IR E
3. 5ad C ARE
4. Hdd B IR D




Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 107 Question Id : 3421236733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following cannot be claimed in the light of Heidegger's thought

A. Philosophy committed a mistake by dissociating itself from the notion of Being since the
time of Plato

B. The real self is ethical, not cognitive.

C. Being must be approached through an investigation into Dasein.
D. Being is God.

E. The world can be bracketed or doubted.

Choose the correct answer from the options given below:

|. D and E Only
2. C and E Only
3. B and C Only

4. A and C Only

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 107 Question Id : 3421236733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR & [09R & 9oy # Faffad # ¥ o9 oy 98 181 o

A. &l & 7Y Y § SRR A W 61 9 & [99R U gYd deh el bl |
B. Jq IR, G3TES 51|

C. ST § 3T & H1998 Y <Fq db d UgaH1 A1gu
D. 8IS0
E. STd &1 BIFHIHR0] 3d] Ycg fhdl ol Yol g

1d feu U fadhetl § € Fa7 TR &1 784 DIfIT:
1. $HddD 3R E

0. Had c ARE
3. %A B AR C
4. HId A AR C

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 108 Question Id : 3421236734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which 1s not correct about Sartre:-

|. “Being and nothingness™ demolishes the spirit of seriousness

2. The aim of “Transcendence of Ego™ is to respond to the misgivings about Existentialism.

3. A comrade believing in “all is well” owing to his egalitarian dream is a case of bad faith
owing to denial of facticity

4. My body is my facticity.

Options :
1.¥1
2. % 2
3.%3
4. % 4



Question Number : 108 Question Id : 3421236734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T & G d fgfofed 4 9 i g 8 g
1. <eliSTT 3R ARG TR & WId Bl & el ¢
2. +[e TS il 37 1 W HRAedaT o Uiel SRIdT &1 YGwR el g

3. {0 FHHTEIE] T H g aTell U SIS ol 94 $9 3l ¢ | oy gl 3. a8
AP B! ATgal P AT B Y g

4, TRTIRR W Il g

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 109 Question Id : 3421236735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The central conception in Kierkegaard's “Sickness unto Death” is:-

. Dread

b3

. Three Spheres of Being

(]

. Freedom
4. Despair

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 109 Question Id : 3421236735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BHIDIE & <[ YDH=Y 3¢ SY” Dl b4 19 Ybhedl o:

1.4

[

. gd & diF S
3. 9gqadl
4, RRY

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 110 Question Id : 3421236736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is incorrect about Wittgenstein's philosophy:-
I. There is no example of object in the text of tractatus
2. There is no example of name in the text of tractatus
3. Resolute and Irresolute readings are methods to read “Philosophical Investigation”
4. “New Wittgenstein” is a book by group of Wittgensteinian scholars

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 110 Question Id : 3421236736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT & a2 o HeH | Fgfead # 9 o a1 Ted g
1. “Cq Y WY T T BT Dy Jarewvl (28id) Ta1 ¢ |
CqCeH Ty T W & Bl <Fid 181 6
3. i SR & U6H &I Rellede 3R 2iuilege UaH fafiai g1
4. 7 faierg faciaree gl & g g e Oias ¢

Options :
1.1
2. %2
3.%83
4. % 4

]

Question Number : 111 Question Id : 3421236737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A.J. Aver's approach regarding ‘non-sensical nature of certain observations’ was shaped by
Willgenstein's famous remark at the end of:

. Tractatus- Logico- Philosophicus
2. Philosophical Investigations
3. On Certainty

4. Blue Book

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 111 Question Id : 3421236737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Ye0Tl Bl R Yl Y el U o, SR b1 JUNTH FHgifchal H 9 foeich oft o
AT B Uit fowull 9 ofiiia um

e SR

1. 3FTCY - Ao - e g

2, ey STy
3. M

4. <90

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 112 Question Id : 3421236738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doing anything with language- whether making statements or promising, commanding, asking
and so forth are all:

. Perlocutionary act
2. Locutionary act
3. Illocutionary act

4. Nonsensical act

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 112 Question Id : 3421236738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YIS 1 febal <lict o T oft ST vl - ekt A1 ] o1, AT et W 0l 3R 3
UER o 3 T &

1. RelRIE T
2, TR e

3. SRR U
4, F1® B

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 113 Question Id : 3421236739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.Which of the following statements can be credited to Ayer's Emotivism?

A. Ethical statements are neither laute logics nor empirically verifiable
B. Ethical statements are unsayable *pseudo concepts’.

C. Ethical statements simply evince i.e. indicate approval or disapproval.
D. Ethical statements express feeling, but cannot arouse feeling in others

Choose the correct answer from the options given below:

1. A, B, COnly
2.B,C,D Only
3. A, B, D Only

4. A, B, C,D Oaly
Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 113 Question Id : 3421236739 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

[FrRfoRgd H T o HuH! 1 99 R & GRS [gid 31 Sl g2

A, A0 HY A T Tl g SR A § S HidP U U Gt gl ¢
B. i Y YT URUMUE |
C. i B THRITH efRid BRd § Sl SHTe I SHie iy Hed g1

D.ﬁ%ﬁ%ﬂﬁmwwmeéﬁ clfcb RISyl 1 S g R
Hahd |

i feu T fadhetl 6 U WaT IR P 94 BT
| $aqA, B, C

2. $9dB.C.D
3.%ddA.B.D
4. $9dA.B.C.D

Options:
1.9 1
2. %2
3.%3
4. % 4

Question Number : 114 Question Id : 3421236740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Put the following analytical philosophers in the correct chronological order:

A. Carnap
B. Quine
C. Ryle
D. Moore
E. Frege

Choose the correct answer from the options given below:

l1.E.A,B,C.D
ZEC.:D.BA
3 EBAC B
4 EACDB

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 114 Question Id : 3421236740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffRad fazeivonets SRS &1 981 dresd § FdRd HIf:

A. BT
B. DI
C.
D. T}
E. Tl

+iid feu U fadetl © 9 F37T IR &I 9894 BT

1.E; A, B, C, D

2EE.D,BA
L EDALCH

4. E.AC,D,B



Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 115 Question Id : 3421236741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which among the following is incorrect in the context of Tagore's philosophy

1. The reason for creation is joy
2. Metaphysically, man in many respects is God- like
3. The *Surplus’ in man indicates the finite aspect of man's nature

4. The infinite nature of man's personality is dynamic

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 115 Question Id : 3421236741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafRad o 191 doH SR & G¥F & el o 98l 78 82
1. oI BT HRUT 3G §
2. “TaHHIE Y U, 3 Ml H AMHd YR Y gidi g
3. {1Fd | [Afgd - sifciey A1 & TUH ug &I Ay $Id1 8
4. M4 & HAlddcd B 3 Upid Tiaiie gidi g

Options:
1.9 1
2. %2
3.%¥3
4. % 4




Question Number : 116 Question Id : 3421236742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII

Sadharana i i B
A I | Telling lie to save the life of an innocent

Dharma ~
B. |Rajadharma I Th? nature of a person should be determined by the proportion of Sattva,

Rajas and Tamas guna

C. |Apaddharma [II. |Every person must practice non-violence
D. o IV. | The behaviour of a king should be guided by moral excellance

Dharma 2 2 ?

Choose the correct answer from the options given below:
[. A-IIL B-IV, C-1, D-IT
2. A-L, B-IV, C-II, D-II
3.A-L B C-1V, D-II

4. A-L, B-II, C-III, D-IV
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 116 Question Id : 3421236742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere
T T

Al | | P ool e & R go e

1T %ﬁﬁaﬁwmmwmdwqﬁﬂiﬂmﬂmﬁ%ﬁ
C. |omugd | 1 | v i &l SMfE BT g Sl Afpul
D. |quiyg o | Iv. | el X @1 eudeR i S wdl gRI Uid a1 AIiRu

Hrd feu e fadedl | U ggt IR 1 994 iU

1. A-IIL, B-1V, C-I, D-II

2. A-LB-IV, C-III, D-TI
3. AL B-III, C-IV, D-II

4. A-L, B-II, C-III, D-IV

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 117 Question Id : 3421236743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Article) (Subject matter)
A [Art 21A| I |Eight to Equality
B |Arnt14 II. |Right to Life
C. |Art 21 III. | Abolition of Untouchability
D. |Art. 17 | IV. |Right to Education

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV

3

.A-TV, B-1, C-II, D-III

sl

. A-IV, B-1, C-III, D-II

4. A-1, B-IV. C-II. D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 117 Question Id : 3421236743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I I
o |
HTDE21 F| I |G & DR
TG 14 | I |Sfied @1 siffeR
HT®E 21 | L | SFgRTd & 3T
e 17 | IV | &1 sfier

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-I, B-II, C-III, D-IV

olo|w|s

(]

ATV, B-1, C-IT, D-III

L]

. A-IV, B-1, C-III, D-II
4. A-1, B-IV, C-II, D-III

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 118 Question Id : 3421236744 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which one among the following is not included as the parts (limbs) of State, according to
Kautilya

1. Society (Janapada)
2. Economy (Kosa)
3. Fort (Durga)

4. Constitution (Samvidhana)

Options :
1.¥1
2. % 2
3.%3



4. % 4

Question Number : 118 Question Id : 3421236744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pifect & SUR FHifhd § U HH-91 I8 & 3 F 2nfia 121 &
NH (wlHUG)

IR (BIY)

3. et (g

4. GfayM

Options :
1.1
2. % 2
3.%3
4. % 4

—a

I3

Question Number : 119 Question Id : 3421236745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence in Gandhian scheme of social change in the order of succession is

A. Swadeshi
B. Swarajva
C. Sarvodaya

Choose the correct answer from the options given below:
1.A.C.B
2.A,B,C
3.BAC
4.B.C.A

Options :
1.9 1
2. % 2
3.%3



4. % 4

Question Number : 119 Question Id : 3421236745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JARIR HH H Tieard] rArsid URkddd &l Ugl 6 o
A. Wl
B. TR
C. 4dicy

A feu U famedl © U gat 3R &l 994 BifoiT:

1.A,C,B

[-3

. ABC
3.B,A,C

4.B,C.A

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 120 Question Id : 3421236746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to the Mahabharata, which of the following four are included in the means to achieve
the end of the State

A. Truth (Satya)

B. Reasoning (Upapatti)

C. Expediency (Upaya)

D. Good conduct (Sadacara)
E. Punishment (Danda)

Choose the correct answer from the options given below:

1.B,C,D,E Only
2.C.D,E, AOQnly
3.A.B,C,D Only

4.A,B,C,E Only
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 120 Question Id : 3421236746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g%mﬂﬁ% SR BTG B 0 & Y TR X b 18 Bl I B o fel 9o | i

A Yd
B. SUR
C. JUl
D. Yo
E.GS

A U T oot H Y et S @1 9 DI
. $dq B, C,D,E
2. %4 C, D, E,A
3. %40 A, B.C,D
4. BITAB.C.E

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 121 Question Id : 3421236747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Political Ideology)| (Nature of the State)

A | Liberalism I. |Demal

Conservatism | II. | Commeon Good

B
C. |Socialism III. | Coercion
D

Anarchism IV, | Weak paternalism

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV
2. AL, B-1, C-1V, D-III
3. A-IIL, B-1IV, C-1, D-1I

4. A-IV, B-III. C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 121 Question Id : 3421236747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

.mﬁl%‘fgﬁl . m@%
. | JeRaR I |3

wiear IL |HER gH
HTSENG 111 |SEvErT
IREAEE | IV, [BHER UgeEs

4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-I, B-II, C-III, D-IV

glo|w|e

(]

. A-11L, B-1, C-1IV, D-III

L]

. A-IIL B-IV, C-1, D-1I
4. A-IV, B-1II, C-II, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 122 Question Id : 3421236748 Question Type : MCQ Option Shuffling

Correct Marks : 2 Wrong Marks : 0

Consider the following statements about Judith Butler

A. There is an unchallenged distinction between sex and gender
B. Gender may be seen as a cultural interpretation of sex

C. Gender is not to culture as sex is to nature

D. “Gender Trouble™ is one of the masterpiece works by Butler

Choose the correct answer from the options given below:

1. A. B and D Only

(o

. A, Cand D Only
3.B. C and D Only

4. C and D Only

:No



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 122 Question Id : 3421236748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SISy deeRk & FEfRdd Y R [9dIR SIS

A. Ya 3R SfeX & o4 (iddig 3R

B. S8R &l Y o R idd Hddd & &4 H &1 ol Yhdl o
C. OISR U¥P I & (10 98! g1 € Sl YaFq Upld & ferg

D. “ofSR T SR DI YO Hidai T Y Uh §

4 feu U fad el § U get 3R &1 994 HIfT:
|.Hdd A, B3R D

2. HAd A, C 3R D
3. HddB. C 3R D
4. Had c 3R D

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 123 Question Id : 3421236749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following statements and identify the correct ones:
A. In Hobbes, the contract leads to both soclety and state

B. In John Locke. there are two contracts - one gives rise to the state, the other to the
government

C. In Locke as well as Rousseau, state is an organism.
D. Hobbes belongs to rational natural traditions of political philosophy.

Choose the correct answer from the options given below:

1. Aand B Only

2. A,Band C Only
3.Band D Only

4. AOnly

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 123 Question Id : 3421236749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad U 98t oAl &1 994 S

A. BieY T UldeT, 9T AR Aoy &l &1 Bl 6l
B. S ol T ] Gfdart gidl g - Uh I &l 5 Gell 8, Tl Gl TR Bl |
C. i 3R T GHI 1, I9 U 9d 5
D. Bled el G & dhuTd Widhidd W] & [ddR® ¢ |
i fgu U fadhetl § 9 WoT SR Bl 94 I
1. hdd A 3R B
2. Hdd A, B HRC
3. had B IR D

4. %hdd A



Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 124 Question Id : 3421236750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements about Miranda Fricker's conception of Epistemic Injustice

A. The conception could be a way to understand epistemic 1deas through the femunist lens.

B. There are two types of epistemic injustice hermeneutic and testimonial

C. In order to ensure epistemic justice, one must be a virtuous hearer

D. The concept of testimony is revisited from a virtue epistemological perspective by Fricker

Choose the eorrect answer from the options given below:

I. Aand C Only
2.B.Cand D Only
3.A,Band D Ounly

4.A,B, Cand D Only
Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 124 Question Id : 3421236750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JFEmiE oFrg e RIS ) B SiayRu & Gy | Y Sl R f9a9R $ifor:

A, T JGYRVT FRIE) £ U JHwwid yRun &1 GHg &1 U Rl 8l 9bd o
B. JFHMRIT 31 & Gl TR g - RS Al 3R GegTd

C. T < & forw Geull Sid g1 SaRad g

D. fIFeh T “WIed W Y& T[0T FHmier i 2ff ¥ gfdar fbar mar g

A QU e fadhetl 1 ¥ FgT IR &1 904 BINU:
L. Had AR C

2. HadB, C AR D
3. Hdd A, B IR D
4. $dd A.B.C IRD

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 125 Question Id : 3421236751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The correct sequence of imperfect societies, as per Plato, in the progression of imperfection is:-

A. Oligarchy
B. Timocracy
C. Tyranny
D. Democracy

Choose the correct answer from the options given below:

[.D,C,A,B
2.D,A,B,C
5.4 B.D,C

4.A,D,B.C

Options :



1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 125 Question Id : 3421236751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UidT & B I, Wiel & YR, 370 AT & Tgl hH -1 gH:
A. PA T
B. ¢[H® o
C. HAER] dA
D. didbdd
i QU U [ edl § ¥ ¥gT IR &1 99 DI

1. BCCAB

[-2

A, B C
3. B LG
4. A,D,B,C

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 126 Question Id : 3421236752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is not true of a valid argument among the following

1. If its conclusion is false, then all the premises cannot be true together

[

. If all its propositions are true, then it is a sound argument

LS ]

 If any of the premises is true, then its conclusion is necessarily true

4. It's conclusion necessarily follows from its premises



Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 126 Question Id : 3421236752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frrafaRad # U <de gfd & Yoy | a1 981 el §2
1. 7 39T 1Y TTed §., dl G4t 3R a19g Uh Ty Tgl g1 51 Yebd ©
2. 3e 34! Qe widRtaat §el 8, 1 48 U 614 gfdd ©
3. 7GBTS Ui U SATYRATR TGI8, dl 29 (Y 3f1a2ud &4 Y gl gl

4. 29 [I5HY 3aLGdH U Y 3Hd YR DT HER0 B § |

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 127 Question Id : 3421236753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following argument:
No poets are accountants

Some artists are poets

Theretfore, some artists are accountants

1. Existential fallacy
2. Fallacy of Illicit Process
3. Fallacy of Exclusive Premises

4. Fallacy of four terms

Options :
1.9 1



2. %2
3.%3
4. % 4

Question Number : 127 Question Id : 3421236753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afRad gfed § &F 91 dadba g
D5 Hid AIHR gl 8 |

$SD HADR Hid g
3d: S HADR TAHR ¢ |

1. TGRS dhGIy
AT Ufehar dhg iy

3. YIS TYRA ddhaly
4.9dWe db Iy

Options :
1.9 1
2. %2
3.%¥3
4. % 4

(]

Question Number : 128 Question Id : 3421236754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be correctly said for argument from “some reformers are fanatics, so some idealists are
fanatics, because all reformers are idealists”.

L. ATI - TII figure; Valid
2. TAI - I figure; Invalid
3. TAI - III figure; Valid

4. AIl - I figure; Invalid

Options :
1.9 1
2. %2



3. % 3
4. % 4

Question Number : 128 Question Id : 3421236754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frfeid g o e 1 98] ¢
%gwmﬁﬁ% 30 G AGAE] I B €, Ty Wl PR e
2

1. T 3T 35 - 1 AIFHc; q4
2, 318 U 3T - 111 Iict; Y

3. 3T U - 111 3MIidt; Y
4. T 3Tg T3 - 101 Hpfct: Y

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 129 Question Id : 3421236755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Definition) (Description)

A definition devised to eliminate ambiguity or vagueness by delineating a

A |Stipulative | L
concept more sharply

: A definition that encapsulates an understanding of the theorv in which the
B. |Lexical IL ; ; 5 :
definiendum term 1s a key element

C. |Prectsing | III. | A definition that reports the meaning that the definiendum already has

: . | A definition in which a new symbol 18 introduced to which some meaning 15
D. |Theoretical | IV. Fpa i “ S
arbitrarily assigned

Choose the eorrect answer from the options given below:

1. A-IIL B-IV, C-II, D-1
2.A-L B-II, C-III, D-IV
3. A1 B-I, G-IV, D-III

4. A-IV, B-IIL C-1, D-II
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 129 Question Id : 3421236755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

1 T @@%

_ ore} e &1 3113 W & QY Eifdhd &R gumideal 71 Sy Bl &
AT | L |yt

B [#m | L %@ﬁmﬁwﬁwm%mﬁuﬁwmuﬁwﬂ
C. |Fareres| L. | RIS 9 ST 6 R 3 & o ORI W F O 9 6 e g

» | o ufegrer Forg ud i Wi a1 W foan ofrel & SR 30 9 o @
D. 190w | . | s i o e

d fGU U fadhedl # U WET IR & 994 Bifoe:

L. A-IIL, B-1V, C-I1, D-1I

2.A-L B-II CIIL D-IV
3. AL B-I, C-IV, D-III
4. A-IV, B-IIL C-I, D-II

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 130 Question Id : 3421236756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Fallacy) (Description)
: When correct reasoning 1s undermined by the deliberate misrepresentation of
A |Accident L

the opponent's position

When a shift of meaning arises within an arcument as a consequence of changes

B. |Equivocation | II. |. s .
in the emphasis given to its words or parts.

C The m When one mistakenly applies a generalization to an indrvidual case that it does
" | Strawman " | not properly govern
. | When the same word phrase is used with two or more meanings in formulating
D. |Accent V. = -
an argument.

Choose the correct answer from the options given below:
1. A-I, B-IV, C-III, D-II
2. A-IV,B-IIL C-I1. D-I
3. A-IIL B-IV, C-1, D-II
4. A-IIL, B-L, C-I1, D-IV

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 130 Question Id : 3421236756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

\ |SERE || el S e T SRR e R R W e gl gU
Al |
5 sz | @ S U d & o @1 e TG 5l off 390 Vea! Y] 390 WA T W
' "~ [IR & Y URadH & URUFRGEU BT B
_ o faRY Yo W AR e M Tl T &l GIdids 63 @) e gl 6/
C |Refs | 2
D |§RIE | IV | ot A 0P 6 es EIa &1 A1 61§ e ol B e i g1

i fGU U fadhedl 4 U ot IR BI 95 DifolL:

[. A-I. B-IV, C-III, D-II
2. A-IV, B-IIL C-II, D-I
3. A0, B-1V, C-I, D-II
4. A-IIL, B-I, C-II, D-IV

Options :
1.¥1
2. % 2
3.%3
4. % 4

Question Number : 131 Question Id : 3421236757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Proposition) (Example)
Contrary I. |If 'E’ 1s falze; O 15 undetermined

Sub- Contrary | II. |If T 1s true; "A’ 15 undetermined

Sub-Altern III. | If "A 15 true; "E 1= false

olo|w|»

Super- Altern | IV. |If "O7 15 false; T true

Choose the correct answer from the options given below:

1. A-IL. B-1, C-III, D-IV
2. A-IIL, B-IV, C-11, D-1
3. A-1, B-III, C-1V, D-II

4. A-IV, B-1I, C-III, D-1

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 131 Question Id : 3421236757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

%gl g

AR
fardim | 1 |3 E omwE o afuifa R
SufgudE| 1L |ofg T Oa® A sfFuifE e
Sufdd | |aft A Tae Eod s

Susg | IV |3 o HEWe. T e 6
4 feu U {9 edl © O el 3R &1 994 Hif:

1. A-IT, B-1, C-III, D-IV

olo|w|s

2. A-IIL, B-1IV, C-11, D-1
3. AL, B-III, C-IV, D-1I
4. A-IV, B-11, C-III, D-I

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 132 Question Id : 3421236758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(PvO)o(R-S),~Po(T=~T),~R
Given the above three are consistent what all is entailed by these:

Uf“\tﬂﬂi

~P
~Q
~S
~T

Choose the correct answer from the options given below:

1. A, B, C Only

(i

. A, C,D Only

(S

. A, B, D Only
4.B. C, D Only

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 132 Question Id : 3421236758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
(PvQ)o(R-S),~P=(T>~T).

tri?rwaiaﬁ?ﬂﬂw% Eﬁweﬂaﬁﬂsﬁm%

A, =P
B0
¢S
D.~T

A feu Tt fqdedi © © Igt ST &1 994 BT
I.Hdd A, B, C

. Hdd A, C,D

3. Hdd A, B, D

4. $ddB.C.D

Options :

-3



1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 133 Question Id : 3421236759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a valid argument form is converted into a Statement form, then:-

A. Such a statement form must be a conditional statement

B. Such a statement form is always a tautology

C. The truth value of such statement form 1s indeterminate

D. In forming such a statement form conjunction must be used

Choose the correct answer from the options given below:

1. A, B, D Only

[

. A and B Only

(]

. A, C,D Oanly

4. Aand C Only
Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 133 Question Id : 3421236759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gf et a4 et MHR DI “HYA HHR T URdfld Hd &,

A, TH G HBR A% T B g AR
B. U8 GYAIAD PR g TR 1o Bl ¢

C. T HUTHS MHR & Jeal Jed A1 ¢ |
D. U8 GYIHD ATHR & HHH < (GUISH) BT YT a2y fbar ST igul

Id fGu U fadedl § U @gT IR &1 944 B
|.$dd A, B.D

). Hdd A IR B
3. HAdA,C,D
4. BATAIARC

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 134 Question Id : 3421236760 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements about Deductive systems

A. The method of 19 rules in Copi's method of deduction is incomplete minus the rule of
Absorption.

B. ‘Post Criterion’ is criterion for consistency.
C. If an axiom is derivable as a theorem from some other axioms outside the given axiomatic

system, such an axiom is definitely ‘independent’.
D. All logistic systems are types of deductive system.
Choose the correct answer from the options given below:
I.A. B,COnly
2.B,C,D Only
3.A,B,C,D Only

4.A,B,D Only



Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 134 Question Id : 3421236760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(RIS YuTell & Weiey | FAgciRad dual R [daR Sifoe:

A, B B AT Tl & 1o ool 1 ol e o o o fo ool

B ‘I A% QYA &1 v ¢l

C. e IS RN &1 75 STEIT TUTel o STex e S HRATI & Y o &y
JeHd g A g, 1 v ofgla g T U § WA Bl

D. FH! ifcheb yurTferat FTHATES WOITed] & YR E |

i fu T fadhed! § 4 FT IR 1 IUH BT
| $dd A, B.C

2. $ddB.C.D
3. $90 A.B.C.D
4 BAAA.B.D

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 135 Question Id : 3421236761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The following is incorrect about Quantification Theory

1. A proposition can be obtained from a propositional function by two processes- Instantiation
and Generalization

2. A singular proposition is a substitution instance of propositional functions

3. Propositional functions are neither true nor false

4. (x)(dx) #~ (3x) ~(éx)
Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 135 Question Id : 3421236761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafea & 8 S H-91 uvAS fgid & ey H U 1 € -

1. Plg Wil il TR W U &l wichaialt & gRI Ui &l o Yl g - ETIiehRv]
Td QAo

2. BIS Uhdl Wi ol IiRita WeH i Ui RiITH 29id gl gl
3. Wil B A S gl ¢ AR A e

4. (1)(9r) = (30)~ (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 136 Question Id : 3421236762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is correct regarding the methods of proving validity in Propositional
Logic

A. The Rule of LP. (Indirect Proof) could be used to prove the validity of argument form
B. Reductio- Ad- Absurdum could be used to prove the inconsistency of premises.

C. The Rule of conditional proof could be used for only such Argument forms whose
conclusion is a conditional statement

D. The strengthened Rule of conditional proof permits any assumption of limited scope.
Choose the correct answer from the options given below:

I.A,B,Conly"
2.A,B,CandD
3.B,C.Donly

4.A,C,Donly
Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 136 Question Id : 3421236762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafolad A S SH-91 WioRiftd ddb %yl TIfiId &3 o1 fafifat & Telty # gt o2

A, IS U1 (31T SHTOT) o 0 1 ST dch TR Bl dell bl THIOG e b e
ERIEIREHIE
B.%WHWWWNWﬁWﬁWHW%WWWW
|
cmﬁfgﬂm%ﬁmwmaﬂaﬂﬁﬁ%mﬁmmwﬁmﬁwm
G
D. FIIfeleh THTOT &bl e farm el S 1 JauRon &1 $igfd &l g

i feU U faehedl 1 ¥ g8t SR 1 T
| HadA, B, C

2.A.B.C3RD
3. BqUB,C.D
4. $qAA. C.D

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 137 Question Id : 3421236763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which among the following is not an implication of the statement ~[(7>0)> P]
L2550
#48
3.0v~P

4.~P
Options :
1.1
2. %2
3.%3



4. % 4

Question Number : 137 Question Id : 3421236763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffead # 9 SH-91 38 $YT ~[(p> 0) - »] BT Ffgard g1 82
1.Po0

Ol

=t
i)
<
!
'-c

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 138 Question Id : 3421236764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Kate Millett's Sexual Politics, Patriarchy' has the following markers:

A. An Hierarchy Society

B. Sexual Oppression

C. Generational Oppression

D. Acceptance of Queer theory

Choose the correct answer from the options given below:

1. Aand B Only
2. Aand C Oaly
3.Band D Only

4. A, B and C Only
Options :
1.4 1
2. %2
3. % 3



4. % 4

Question Number : 138 Question Id : 3421236764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dre fiele & Yagafd Ulfeieas & HuR, Uge & Hufdiad 99as ¢

A. QTS GHS

B. Gt GHA

C. YlghTd gud

D. B Fgid & uid Wipfd Y

Hid U U fadedl H © @81 SR &l 994 BifU:
1. $Had A 3R B
2. Had A AR C
3. $dd B AR D

4. Bdd A, BIRC

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 139 Question Id : 3421236765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Peter Raabe, what is the key benefit of Philosophical Counseling?

1. It provides quick solutions to mental health crisis

[

. It employs religious doctrines to guide individuals
3. It enhances critical thinking and self-awareness
4. Tt uses medication to treat psychological issue

Options :
1.9 1



2. %2
3.%3
4. % 4

Question Number : 139 Question Id : 3421236765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

iR I & YR, ST R DT TG 1 /1 52
1. I¢ YHRYD W e g 2T GaTe U didl ¢
2. U8 Hfadal 1 & RId B3 & fof ifiie gl Uer drarg|
3. U8 SIS o 3R Md-S1)fd § gfs SRa1 |
4. U8 TGS G, & TR & fiw Ffdsed &1 UG ol g

Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 140 Question Id : 3421236766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The most-important distinction in the environmental movement is that of ‘Shallow Ecology’ and
‘Deep Ecology’ introduced by:

1. David Ehrenfield
2. Arne Naess
3. William Morris

4. Rachel Carson

Options :
1.9 1
2. %2
3.%3
4, % 4



Question Number : 140 Question Id : 3421236766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

iR Sficier H Hed Wgau fave 78 § fdh <3l UIRcH 3R g WiRe @l HacH
W@HQWW:

3. fafcram AR
4. R TG

Options :

1.1

2. % 2

3.% 3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 342123268
Question Shuffling Allowed : No

Question Id : 3421236767 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

The society of future falls less within the province of a Newtonian anthropology...... than a
pragmatics of language particles. There are many different language games- a heterogeneity of
elements. They only give rise to institutions in patches- local determinism. The decision makers,
however, attempt to manage these clouds of sociality according to input/ output matrices,
following a logic which implies that their elements are commensurable and that the whole is
determinable. They allocate our lives for the growth of power. In matters of social justice and of
scientific truths alike, the legitimation of that power is based on its optimizing the system’s
performance-efficiency. The application of this criterion to all of our games necessarily entails a
certain level of terror, whether soft or hard: be operational (ie., commensurable) or
disappear........ The operativity criterion is technological, it has no relevance for judging what is
true or just, Is legitimacy to be found in consensus obtained through discussion ......... ? Such
consensus does violence to the heterogeneity of language games. And invention is always born of
dissension.

Sub questions

Question Number : 141 Question Id : 3421236768 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
The passage seems to suggest that Newtonian anthropology is not:

1. Essentialist in character

[

. Structuralist in its analysis

(]

. Holistic 1n its analysis
4. Destabilizing in its analysis

Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 142 Question Id : 3421236769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The author seems not to be in opposition to:-

1. Homogeneity of language games

[

. Universal Determinism

(]

. Heterogeneity of language games
4. Logic of maximum performance

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 143 Question Id : 3421236770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The operativity criterion cannot be applied to:

A. Questions of Justice

B. Questions of Truth

C. Questions of Information Technology
D. Questions of Natural Science

Choose the correct answer from the options given below:

1. Aand B Only

[

. A, B and C Only

(5]

. Aand C Only

4. B and D Oanly
Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 144 Question Id : 3421236771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consensus 1s deplorable because it:

A. Involves violence

B. involves a neglect of actual language situation
C. 1s essential for creativity dissension

D. does not involve discussion

Choose the correct answer from the options given below:

l.Only Band D

[

. A and B only
3.B. C and D only

4. A. B and C only
Options :
1.9 1
2. % 2



3. % 3
4. % 4

Question Number : 145 Question Id : 3421236772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The passage seems to suggest that:

A. One should learn to celebrate incommensurability
B. One should be sensitive towards differences

C. A power structure undermines our systems

D. Consensus is necessary for creativity and invention

Choose the correct answer from the options given below:

1. A, C and D only

[

. A, B and C only
3.B. C and D only

4. C Oaly
Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Id : 3421236767 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 3421236768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g T2 Y 98 GalTg ol §ofl Udid oidl § fdb e AFa<IRd I8 el
1. IR Y WHTddTdl 3
2. 7Y [A=eIyur  GREArETe] 3
3. 24 fazelyur ¥ gmpare) g
4. 790 frRmoTan fasero §

Options :
1.v1
2. %2
3.%83
4. % 4

Question Number : 142 Question Id : 3421236769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R 3T faRTy # 7 Uclld giell &:
1. HTSTT WAl Bl Th =l
2. GHIAS Fafddrg
3. WTORA Wl i fafder
4. AfYHH FTeT BT gfdd

Options :
1.¥1
2. %2
3.%83
4. % 4

Question Number : 143 Question Id : 3421236770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eI ® fAHY 24 W ] 3l gidl ¢:

A O S UYR

B. UId & UY R

C. G-I ThAIPT & UH R
D. UThfdd [aR & gy W)

I fu U f[ad el § U T 3R &1 99 DIfSIU:
|. BAd A. B

2. HAdd A, BUd C
3. HAd ATd C
4. HadBUE D

Options :
1.v1
2. %2
3.%83
4. % 4



Question Number : 144 Question Id : 3421236771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gadamfd < g wife:

A. 3oH fgar nfad gidi ¢

B. SUH AR<idd HINT FUfd BT IUem gkl gl
C. Ug [TATHP AdHE g 3Hard g

D. 3H =4 Tl g 31

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HdAB 3R D
2. Hdd A 3R B
3.®ddAB,C 3R D

4. HAd A, B3R C

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 145 Question Id : 3421236772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



eI U8 GATd odl g [
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I feu U f[ad el § U T 3R &1 994 DI
1. Had A, C 3R D

2. BAd A. B3R C
3. ®Hdd B, C 3R D
4. FAdc

Options :

1.9 1

2. %2

3.%3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 342123269
Question Shuffling Allowed : No

Question Id : 3421236773 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)

Question Label : Comprehension



The philosophy of technology is a branch of philosophy that examines the nature, development
and impacts of technology on society and human life. This field explores the ethical, social and
existential questions raised by technological advancements and seeks to understand how
technology shapes and is shaped by human values and practices.

One of the central themes in the philosophy of technology is the relationship between humans
and technology. Philosophers debate whether technology is a neutral tool that humans use to
achieve their goals or it actively shapes human behavior and society. The instrumentalist view
considers technology as a means to an end, emphasizing human control over technological tools,
In contrast, the determinist perspective argues that technology has its own logic and momentum,
significantly influencing human actions and social structures. Another critical aspect of the
philosophy of technology is the ethical implications of technological innovation. For instance, the
rise of Artificial Intelligence (AI) and Machine-learning raises questions about autonomy,
responsibility and the potential for biased decision-making. The concept of technological
mediation is also significant here, which refers to the ways in which technology influences
human perception and interactions with the world. For instance, smartphone and social media
platforms alter how people communicate, form relationships and perceive reality.

The philosophy of technology also addresses the notion of: technological utopianism and
dystopianism. Utoplan-views see technology as a force for positive charge. Dystopian
perspectives, on the other hand, warn of potential dangers and negative consequences of
unchecked technological advancements, such as loss of privacy, dehumanization and
environmental degradation.

Sub questions

Question Number : 146 Question Id : 3421236774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the central theme in the philosophy of technology?

1. The economic benefits of technological advancements

[

. The relationship between humans and technology

(]

. The technical specifications of new technologies
4. The market potential of emerging technologies

Options:
1.9 1
2. %2
3.%¥3
4. % 4



Question Number : 147 Question Id : 3421236775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which view considers technology as a neutral tool used to achieve human goals?

1. Determinist view

2. Instrumentalist view
3. Utopian view

4. Dystopian view

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 148 Question Id : 3421236776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
What ethical issues are raised by the rise of artificial intelligence (AI) and machine learning?

. The efficiency of production process

2. The technological complexity of algorithms
3. The potential for biased decision-making

4. The cost of implementing Al systems

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 149 Question Id : 3421236777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What does the concept of technological mediation refer to?

1. The economic impact of technology on market

[-2

. The way technology influences human perception and interaction

LS

. The process of developing new technological devices
4. The technical specifications of communication networks

Options :
1.1
2. %2
3.%83
4. % 4

Question Number : 150 Question Id : 3421236778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do dystopian perspectives on technology warn about?

. The high cost of technological innovation.

2. The potential dangers and negative consequences of unchecked technological advancement.
3. The lack of technological progress in developing nations.
4. The technical challenges of creating new technologies.

Options :
1.1
2. %2
3.%83
4. % 4

Question Id : 3421236773 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 3421236774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.v1
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3. % 3
4. % 4

Question Number : 147 Question Id : 3421236775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 148 Question Id : 3421236776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 149 Question Id : 3421236777 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3. %3
4. % 4

Question Number : 150 Question Id : 3421236778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.9 1
2. %2
3.%¥3
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